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101. rnMkkçke Ãkæækrík MkBkefhÛk .......... ykækkrhík Au.

(A) MkkíkíGkLkku ÏGkkÕk (B) çkuÔkzkt ÃkkMkkLkku  ÏGkkÕk

(C) LkkÛkk BkkÃkÛkeLkku ÏGkkÕk (D) WÃkhLkkt  çkækks

102. rnMkkçke Ãkæækrík yu .......... .

(A) æktækkLkwt BkwÏGk fkGko Au. (B) æktækkLkwt LkfkBkwt fkGko Au.

(C) æktækkLkwt MknkGkf fkGko Au. (D) æktækkLkwt MkkBkkLGk fkGko Au.

103. ÎkkÕkÏkkækLke òuøkÔkkE .......... Lkk rMkæækktíkLku ykækkhu fhÔkkBkkt ykÔku Au.

(A) YrZåkwMíkíkk (B) ykÔkf Bku¤ÔkÛke

(C) ÃkqÛko ÃkúkøkxefhÛk (D) (A)  yLku  (B)  çktLku

104. rnMkkçke Ãkæækrík yu yuðe Bkkrníke Ãkæækrík Au fu su fkåke BkkrníkeLku yÚkoÃkqÛko BkkrníkeBkkt ÃkrhÔkríkoík fhu Au. yk
rðÄkLk {kxu fÞku rðfÕÃk Mkk[ku Au ?

(A) yk rðÄkLk Mkk[wt Au. (B) yk rðÄkLk Ïkkuxwt Au.

(C) (A)   yLku  (B)  çktLku ÷køkw Ãkzu Au. (D) WÃkhLkwt fkuE Lknª

105. BkkLkÔk MktMkkækLk rnMkkçke ÃkæækríkBkkt, ‘MkBkkGkkursík rzMfkWLxuz ÇkkÔke ÔkuíkLk BkkuzuÕk’ fkuÛku rÔkfMkkÔkuÕkwt Au ?

(A) hkush yuåk. n{uoLMkLk (B) ÔkkGkLku su. BkkuMko

(C) ÃkufeLk ykuøkoLk (D) ykh. S. çkuhe

106. yÂMíkíðLkku ÏÞk÷ rnMkkçkLkeþLku .......... ðå[uLkk íkVkðíkLku MÃkü fhkðu Au.

(A) ÔGkÂõíkøkík yLku æktækkfeGk ÔGkÔknkh

(B) ÔGkÂõíkøkík yLku rçkLkæktækkfeGk ÔGkÔknkh

(C) (A)   yLku  (B)  çktLku

(D) WÃkhLkkt fkuE Lknª

107. rnMkkçke rMkæækktíkku MkkBkkLGk heíku .......... ykækkheík nkuGk Au.

(A) ÔGkÔknkhwíkk (B) rÔk»kGkÔkMíkw

(C) MkkËøkeÃkÛkwt (D) LkkUækÛkeBkkt Mkh¤íkk

108. BkkLkÔk MktMkkækLk ÃkæækríkBkkt LkeåkuLkk Ãkife fGkku Ãkzíkh yrÇkøkBk LkÚke ?

(A) yiríknkrMkf Ãkzíkh Ãkæækrík (B) ÔkifrÕÃkf Ãkzíkh Ãkæækrík

(C) ÃkwLk:MÚkkÃkLkk Ãkzíkh Ãkæækrík (D) WÃkhLkkt fkuE Lknª

109. ÔkMkqÕkkíkLkk ÏGkkÕk ÃkúBkkÛku ykÔkf õGkkhu MÔkef]ík økÛkkGk Au ?

(A) hkufz ÔkMkqÕk ÚkkGk íGkkhu (B) ykGkkusLk ÚkkGk íGkkhu

(C) ÔkuåkkÛk ÚkkGk íGkkhu (D) ÔkMíkw WíÃkkrËík ÚkkGk íGkkhu
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101. The Accounting Equation is based on _____ .

(A) going concern concept (B) dual aspect concept

(C) money measurement concept (D) All of the above

102. Accounting is a _____ .

(A) prime function of business (B) useless function of business

(C) support function of business (D) ordinary function of business

103. Provision for bad debts is made on the basis of the principle of _____ .

(A) conservatism (B) revenue matching

(C) full disclosure (D) both (A) and (B)

104. Accounting is an information system which converts the raw data into meaningful
information. Which option is correct in view of this statement?

(A) It is true (B) It is false

(C) Both (A) and (B) apply (D) None of the above apply

105. Who developed the ‘Adjusted Discounted Future Wages Model’ in Human Resource
Accounting?

(A) Roger H Hermanson (B) Wayne J. Morse

(C) Pekin Ogan (D) R. G. Barry

106. Entity concept enable the accountants to distinguish between _____ .

(A) personal and business transactions

(B) personal and non-business transactions

(C) Both A and B

(D) None of the above

107. Accounting principles are generally based on _____ .

(A) practicability (B) subjectivity

(C) simplicity (D) convenience in recording

108. Which of the following is not a Cost Approach to the Human Resource Accounting ?

(A) Historical Cost Method (B) Opportunity Cost Method

(C) Replacement Cost Method (D) None of the above

109. According to realization concept, revenue is recognized when _____

(A) the cash is collected (B) the planning take place

(C) the sale is made (D) the products are manufactured
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110. BksqheLku MktÃkr¥kLkk rÃkíkk íkhefu fkuÛku ÕkûkBkkt Õkeæke  ?

(A) hkush yuåk. n{uoLMkLk (B) Mkh rÔkrÕkGkBk Ãkuxe

(C) ÔkkGkLku su. BkkuMko (D) ÃkufeLk ykuøkoLk

111. ‘LkVkLke fkuE yÃkuûkk Lknª yLku çkækk ~kõGk Lkwf~kkLkLke òuøkÔkkR fhÔke’ yk rðÄkLk fGkk rMkæækktíkLkk ykækkhu ÎkÛke
ÔkÏkík ÔkÛkoÔkkBkkt ykÔku Au ?

(A) yufYÃkíkkLkku rMkæækktík (B) MktåkGkLkku rMkæækktík

(C) YrZåkwMíkíkkLkku rMkæækktík (D) MkkíkíGkLkku rMkæækktík

112. MkkBkkLGk MÔkef]ík rnMkkçke rMkæækktík  (GAAP) yu xufrLkfÕk rnMkkçke ÃkËBkkt .......... MkBkkÔku~k ÚkkGk Au.

(A) ÃkhtÃkhkøkík rMkæÄktíkku (B) rLkGkBkku

(C) Ãkúr¢Gkk (D) (A), (B) yLku (C) WÃkhLkkt  çkækk s

113. ÃkwLk : ÔkuåkkÛk Bkkxu BkkÕkLke ÏkheË Ãkzíkh yu .......... Lkwt WËknhÛk Au.

(A) BkwÕkíÔke hkÏkuÕk BknuMkqÕke Ïkåko (B) ykÔkf Ïkåko

(C) Bkqze Ïkåko (D) Bkqze hMkeË

114. .......... yu ÃkúkÚkrBkf ÏkåkkoLkwt WËknhÛk Au.

(A) ykÔkf Ïkåko (B) Bkqze Ïkåko

(C) BkwÕkíÔke hkÏkuÕk BknuMkqÕke Ïkåko (D) Bkqze ykÔkf Ïkåko

115. Bkqze ykÔkf yu .......... ÃkËLkku ÃkGkkoGk Au.

(A) Bkqze ÕkkÇk (B) Bkqze Lkwf~kkLk

(C) BknuMkqÕke ÕkkÇk (D) BknuMkqÕke Ïkåko

116. VwøkkÔkkLkk MkBkGk ËhBGkkLk, MkkBkkLGk heíku, LkVkLke hfBk .......... Au.

(A) rçkLk yMkhfkhf hnu (B) Ôkækkhu çkíkkÔku

(C) ykuAwt çkíkkÔku (D) WÃkhLkkt  fkuE Lknª

117. ÃkuxLx hkRxTMkLke ÏkheËe yu ........... økýkÞ.

(A) BkwÕkíÔke hkÏkuÕk Ïkåko (B) BknuMkqÕke Ïkåko

(C) æktækkfeGk Ïkåko (D) Bkqze Ïkåko

118. ÃkuZe íkuLkk GktºkkuLkwt ÔkuåkkÛk fhu yu .......... økýkÞ.

(A) ækktækfeGk hMkeË (B) BknuMkqÕke hMkeË

(C) Bkqze hMkeË (D) WÃkhLkkt  fkuE Lknª
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110. Who considered labour as the Father of Wealth ?

(A) Roger H Hermanson (B) Sir William Petty

(C) Wayne J Morse (D) Pekin Ogan

111. Which principle is often described as “anticipate no profits and provide for all possible
losses”?

(A) Matching principle (B) Accrual principle

(C) Conservatism principle (D) Consistency principle

112. Generally Accepted Accounting Principle (GAAP) is a technical accounting term that
encompasses _____ .

(A) the conventions (B) the rules

(C) the procedure (D) All (A),(B) and (C) above

113. Cost of goods purchased for resale is an example of _____ .

(A) deferred revenue expenditure (B) revenue expenditure

(C) capital expenditure (D) capital receipt

114. Preliminary expenses are an example of _____ .

(A) revenue expenditure (B) capital expenditure

(C) deferred revenue expenditure (D) capital income

115. Capital income is synonymous to the term _____.

(A) capital gain (B) capital loss

(C) revenue gain (D) revenue expenditure

116. During the periods of inflation, the amount of profit is normally _____ .

(A) unaffected (B) overstated

(C) understated (D) None of the above

117. Purchase of patent rights is a _____ .

(A) deferred expenditure (B) revenue expenditure

(C) business expenditure (D) capital expenditure

118. The selling of its own machinery by a firm is a _____ .

(A) business receipt (B) revenue receipt

(C) capital receipt (D) None of the above
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119. VwøkkÔkksLGk rnMkkçke ÃkæækríkBkkt ÏkheË ~kÂõík ÕkkÇk .......... Lku fkhÛku WË¼Ôku Au.

(A) LkkÛkkfeGk rBkÕkfíkku (B) LkkÛkkfeGk sÔkkçkËkheyku

(C) LkkÛkkfeGk çkkçkíkku (D) WÃkhLkkt çkækks

120. BknuMkqÕke Lkwf~kkLk ÃkËLkwt MkBkkLk ÃkË .......... Au.

(A) BknuMkqÕke Ïkåko (B) BknuMkwÕke ykÔkf

(C) BknuMkqÕke hMkeË (D) BkwÕkíÔke hkÏkuÕk Lkwf~kkLk

121. LkeåkuLkk Ãkife fGkku nÔkkÕkku ÔkíkoBkkLk Ãkzíkh rnMkkçke Ãkæækrík nuX¤ ykðíkku LkÚke ?

(A) ÔkuåkkÛk Ãkzíkh nÔkkÕkku (B) ÎkMkkhk Lkku nÔkkÕkku

(C) røkGk®høk nÔkkÕkku (D) ÏkheË ~kÂõík ÕkkÇk

122. .......... ‘ÃkúÔku~k BkqÕGk yrÇkøkBk’ VwøkkÔkksLGk rnMkkçke ÃkæækríkBkkt ykðu Au ?

(A) ÔkíkoBkkLk ÏkheË ~kÂõík (B) ÔkíkoBkkLk Ãkzíkh rnMkkçke Ãkæækrík

(C) (A) yLku  (B) çktLku (D) WÃkhLkkt  fkuE Lknª

123. LkkÛkkfeGk fkGko~keÕk Bkqze nÔkkÕkkBkkt .......... ÕkûkBkkt ÕkuÔkk~ku Lknª.

(A) ËuÔkkËkhku (B) hkuõz

(C) ÕkuÛkËkhku (D) WÃkhLkkt  fkuE Lknª

124. ÔGkÔknkhku nBku~kkt .......... MkkÚku nkuGk Au.

(A) yktíkhef Ãkûkfkhku (B) MktåkkÕkf {tz¤

(C) çkkÌk Ãkûkfkhku (D) WÃkhLkkt  fkuE Lknª

125. ÎkxLkk Võík LkeåkuLke ÃkrhrMÚkíkeBkkt æGkkLkBkkt ÕkuÔkkBkkt ykÔku Au.

(A) rnMkkçke Ôk»koLkk ÃkúÚkBk rËÔkMku

(B) rnMkkçke Ôk»koLkk ykÏkhe rËÔkMku

(C) rnMkkçke Ôk»ko ËhBGkkLk

(D) (A) yLku  (B)  çktLku

126. .......... yu ÃkuZeLke MkkBkkrsf sÔkkçkËkheLkku Çkkøk økýkÞ Au.

(A) åkkuÏÏke ykÔkf Vk¤ku (B) ònuh Vk¤ku

(C) ÃkGkkoÔkhÛk Vk¤ku (D) WÃkhLkkt  çkækk s

127. LkVk-Lkwf~kkLk Ïkkíkwt-Ãkkxo II .......... Ë~kkoÔku Au.

(A) fkåkku LkVku yÚkÔkk Lkwf~kkLk (B) åkkuÏÏkku LkVku yÚkÔkk Lkwf~kkLk

(C) ÔkuåkuÕk BkkÕkLke Ãkzíkh (D) ÔkuåkkÛk yLku ykÏkh Mxkuf
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119. In Inflation Accounting, the purchasing power Gain arises because of _____ .

(A) monetary Assets (B) monetary liabilities

(C) monetary items (D) All of the above

120. The term ‘Revenue Loss’ is similar to the term _____ .

(A) revenue expenditure (B) revenue income

(C) revenue receipt (D) deferred loss

121. Which of the following is not an Adjustment under Current Cost Accounting Method?

(A) Cost of sales Adjustment (B) Depreciation Adjustment

(C) Gearing Adjustment (D) Purchasing Power Gain

122. Which of the following is an entry Value Approach to Inflation Accounting?

(A) Current Purchasing Power (B) Current Cost Accounting

(C) Both A and B (D) None of the above

123. The following is not considered in Monetary Working Capital Adjustment.

(A) Debtors (B) Cash

(C) Creditors (D) None of the above

124. Transactions are always with _____

(A) Internal parties (B) Management

(C) External parties (D) None of the above

125. Events are considered only _____

(A) on the first day of the accounting year

(B) on the last day of the accounting year

(C) during the accounting year

(D) Both A and B

126. _____ is the part of social responsibility of a firm.

(A) Net Income Contribution (B) Public Contribution

(C) Environment Contribution (D) All of the above

127. Profit and Loss account part II discloses _____ .

(A) the gross profits or losses (B) the net profits or losses

(C) Cost of goods sold (D) Sales and closing stock
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128. ftÃkLkeLkk Mkk{krsf Vk¤kLku ‘r{÷fík’ íkhefu økýðkLkk {kuzu÷Lku fE ftÃkLkeyu rðfMkkÔÞwt ?

(A) RLxhLku~kLkÕk rçkÍLku~k Bk~keLk (B) MfkurÔkÕk BkuLGkwVuõåk®høk ftÃkLke

(C) yuçkexe yuMkkurMkyuxMk RLkfkuÃkkouhu~kLk (D) RBkrÃkrhfÕk furBkfÕk RLzMxÙe

129. .......... rnMkkçke ækkuhÛkku huÔkLGkwLku Õkkøkw Ãkzu Au.

(A) AS-18 yLku IAS-18 (B) AS-18 yLku IAS-9

(C) (A) yLku  (B) çktLku (D) WÃkhLkkt  fkuE Lknª

130. .......... yu ÃkGkkoÔkhÛk rnMkkçke ÃkæækríkLkku Çkkøk LkÚke.

(A) økúeLk rnMkkçke Ãkæækrík (B) MkkBkkrsf rnMkkçke Ãkæækrík

(C) (A) yLku (B) çktLku (D) ÃkhtÃkhkøkík rnMkkçke Ãkæækrík

131. ÃkGkkoÔkhÛk rnMkkçke ÃkæækríkLkk fkGkoûkuºkBkkt .......... Lkku MkBkkÔku~k Úkíkku LkÚke.

(A) hk»xÙeGk ykÔkf (B) VwøkkÔkku

(C) MkkBkkrsf MkwÏkkfkhe (D) fwËhíke Mºkkuºk

132. ÇkkøkeËkhkuBkkt LkVku yLku Lkwf~kkLk, ÇkkøkeËkhe fhkhBkkt fkuEÃkÛk òuøkÔkkELkk yÇkkÔku .......... ÔknUåkkGk Au.

(A) MkhÏkkÇkkøku (B) íkuBkLke BkqzeLkk ÃkúBkkÛkBkkt

(C) íkuykuyu ykÃkuÕke hkufzLkk ÃkúBkkÛkBkkt (D) íkuykuyu ykÃkuÕke ÕkkuLkLkk ÃkúBkkÛkBkkt

133. LkÔkk ÇkkøkeËkhLkk ÃkúÔku~k MkBkGku , MkkBkkLGk yLkkBkíkLke VuhçkËÕke .......... ÚkkGk Au.

(A) ÇkkøkeËkhkuLkk ÕkkuLk Ïkkíku (B) LkVk-Lkwf~kkLk nÔkkÕkk Ïkkíku

(C) ÇkkøkeËkhkuLkk Bkqze Ïkkíku (D) WÃkhLkkt  fkuE Lknª

134. LkeåkuLkku VkGkËku fkuBÃGkwxh rnMkkçke ÃkØríkLkku Au.

(A) åkkufMkkR (B) ÍzÃk

(C) MkkíkíGk (D) WÃkhLkkt  çkækk s

135. P yLku  Q 3:2 Lkk ÃkúBkkÛkBkkt LkVku ÔknUåku Au. íkuyku  R Lkku ÃkúÔku~k LkVkBkkt 1/5 ÇkkøkÚke fhu Au su íku P yLku Q ÃkkMkuÚke
MkhÏkkÇkkøku Bku¤Ôku Au. íkku nðu ÇkkøkeËkhku Ôkååku LkÔkk LkVk ÔknUåkÛkeLkwt ÃkúBkkÛk .......... hnu~ku.

(A) 12 : 8 : 5 (B) 5 : 3 : 2

(C) 2 : 2 : 1 (D) 8 : 12 : 5
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128. Which company first developed the model in which the social contribution made by the
company is treated as assets?

(A) International Business Machine (B) Scovil manufacturing company

(C) ABT Associates Intercorporation (D) Imperical Chemical Industries

129. Which of the following Accounting standards are applicable to revenue?

(A) AS – 18 and IAS - 18 (B) AS – 18 and IAS - 9

(C) Both A and B (D) None of the above

130. Environment accounting is not the part of _____ .

(A) Green Acccounting (B) Social Accounting

(C) Both A and B (D) Traditional Accounting

131. _____ is not included in the scope of environment Accounting.

(A) National Income (B) Inflation

(C) Social Wellbeing (D) Natural Resources

132. In the absence of any provision in the partnership agreements, profits and losses are
shared by partners _____.

(A) equally (B) in the ratio of their capital

(C) in the ratio of cash given by them (D) in the ratio of loan given by them

133. At the time of admission of a new partner, general reserve is transferred to _____.

(A) partners loan account (B) profit and loss adjustment account

(C) partners capital account (D) None of the above

134. The following is the benefit of computer accounting

(A) Accuracy (B) Speed

(C) Consistency (D) All of the above

135. P and Q share profits in the ratio 3:2. They admit R with 1/5 shares in the profits which
R gets equally from P and Q. The new profit sharing ratio between the partners will be
_____ .

(A) 12 : 8 : 5 (B) 5 : 3 : 2

(C) 2 : 2 : 1 (D) 8 : 12 : 5
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136. P, Q yLku R ÇkkøkeËkhku Au su 2 : 2 : 1 Lkk ÃkúBkkÛkBkkt LkVku ÔknUåku Au. R rLkÔk]ík ÚkkGk Au.nðu  P yLku Q Ôkååku LkÔkwt
LkVk ÔknUåkÛkeLkwt ÃkúBkkÛk .......... Úkþu.

(A) 2 : 1 (B) 3 : 2

(C) 1  : 1 (D) 1  : 2

137. fkuBÃGkwxh rnMkkçke ÃkØríkBkkt rzSx ÃkËLkku MktËÇko .......... MkkÚku Au.

(A) yktfzkfeGk økwÛkækBko (B) åkkuõfMk økwÛkækBko

(C) ÔkÛkkoLkw¢Bk økwÛkækBko (D) WÃkhLkkt çkækks

138. fkuEÃkÛk fhkhLkk rÔkhwØLkk yÇkkÔkBkkt, ÇkkøkeËkhe ÃkuZeLkk rÔkMksoLk MkBkGku, BkqzeLkVku ÇkkøkeËkhkuBkkt .......... sBkk
ÚkkGk Au.

(A) MkhÏkkÇkkøku (B) BkqzeLkk ÃkúBkkÛkBkkt

(C) LkVk ÔknUåkÛkeLkk ÃkúBkkÛkBkkt (D) WÃkhLkkt  fkuE Lknª

139. ÇkkøkeËkhe ÃkuZeLkk rÔkMksoLk MkBkGku, Mkt~krGkík ËuÔkkLke òuøkÔkkELke VuhçkËÕke .......... fhÔkkBkkt ykÔku Au.

(A) ÇkkøkeËkhkuLkk Bkqze Ïkkíku (B) ÔkMkqÕkkík Ïkkíku

(C) ÃkhåkwhÛk ËuÔkkËkhku Ïkkíku (D) LkVk-Lkwf~kkLk Ïkkíku

140. 1024 Bkuøkk çkkRx yuxÕku .......... .

(A) 1 økeøkk çkkRx (B) 1 rfÕkku  çkkRx

(C) 1 Bkuøkk çkkRx (D) WÃkhLkkt fkuE Lknª

141. fBkkLz yuÔkku ~kçË Au. su MkBkøkú .......... Lku Mkr¢Gk fhu Au.

(A) MkkìVTxÔkuh (B) çkækks ÃkúkuøkúkBMk

(C) MkkìVTxÔkuh yLku çkækks ÃkúkuøkúkBMk (D) WÃkhLkkt  fkuE Lknª

142. Y. 8 ÕkkÏkLke åkkuÏÏke rBkÕkfíkkuLkk MktËÇkoBkkt, ftÃkLke Y. 10 ÕkkÏkLkk ÃkqÛko ÇkhÃkkE ÚkGkuÕk ~kuh ykÃku íkku çkkfeLkk
Y. 2 ÕkkÏk .......... WækkhÔkkBkkt ykÔk~ku.

(A) ÃkkÎkze Ïkkíku

(B) LkVkLkwf~kkLk Ïkkíku

(C) LkVkLkwf~kkLk Vk¤ÔkÛke Ïkkíku

(D) Bkqze yLkkBkík Ïkkíku

143. fkuBÃGkwxh nkzoÔkuhLkk Bkq¤íkíÔkLkk Bkk¤ÏkkBkkt .......... nkuÞ Au.

(A) Bkkrníke íkiGkkh fhÔkkBkkt MkkBkuÕk rzÔkkErMkMk

(B) BkæGkMÚk Ãkúr¢Gkk yufBk

(C) Bkkrníke BkqfÔkkBkkt MkkBkuÕk rzÔkkErMkMk

(D) WÃkhLkkt  çkækks
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136. P, Q and R are partners sharing profits in the ratio of 2 : 2 : 1 R retires. Now the new
profit sharing ratio between P and Q will be _____ .

(A) 2 : 1 (B) 3 : 2

(C) 1 : 1 (D) 1 : 2

137. In computer accounting, the term digit refers to a _____ .

(A) Numeric character (B) Specific character

(C) Alphabetic character (D) All of the above

138. In the absence of any contract to the contrary, capital profit on dissolution of a partnership
firm, is credited to the partners _____ .

(A) equally (B) in capital ratio

(C) in profit sharing ratio (D) None of the above

139. In the event of dissolution of a partnership firm, the provision for doubtful debts in
transferred to _____ .

(A) Partners capital account (B) Realisation account

(C) Sundry debtors account (D) Profit and loss account

140. 1024 Mega bytes means

(A) 1 Gigabytes (B) 1 kilobytes

(C) 1 Megabytes (D) None of the above

141. A Command is a single word that would activate the entire _____ .

(A) software (B) all the programs

(C) software and all the programs (D) None of the above

142. If a company has issued fully paid shares of Rs 10 lakh in consideration of net assets of
Rs 8 lakh. The balance of Rs 2 lakh will be debited to _____ .

(A) goodwill account

(B) profit and loss account

(C) profit and loss Appropriation account

(D) capital reserve account

143. The elements in a computer hardware configuration are _____ .

(A) devices involved in data preparation

(B) the central processing unit

(C) devices involved in input of data

(D) All of the above
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144. òu 100 Y. Lkk yuf yuÔkk ~kuh suLkk Ãkh 60 Y. åkqfÔkuÕk nkuGk íkuÔkk ~kuh sÃík fhÔkkBkkt ykÔku íkku ykuAkBkkt ykuAk fE
®fBkíku Vhe çknkh Ãkkze ~kfkGk ?

(A) ~kuh ËeX Y. 60 (B) ~kuh ËeX Y. 100

(C) ~kuh ËeX Y. 160 (D) ~kuh ËeX Y. 40

145. MkuÔkk Ãkzíkh yu .......... Ãkzíkh ÔGkkÏGkkrGkík Au.

(A) WíÃkkrËík BkkÕk (B) ÃkuËk~k Ãkqhe ÃkkzÔke

(C) MkuÔkk Ãkqhe ÃkkzÔke (D) WÃkhLkkt  fkuE Lknª

146. ònuh BkGkkorËík ftÃkLke .......... Ãkkze ~kfu Lknª.

(A) RÂõÔkxe ~kuh (B) rzVzo ~kuh

(C) ÃkúuVhuLMk ~kuh (D) çkkuLkMk ~kuh

147. nkuxu÷{kt Mkk{kLÞ heíku .......... Lke Ãkzíkh økýðk{kt ykðu Au.

(A) ÔkuíkLk yLku Ãkøkkh (B) ÏkkuhkfLke òuøkÔkkRyku

(C) RLxhLkux yLku ÔkkE-VkE MkuÔkkyku (D) WÃkhLke çkæke s

148. Ãkzíkh yLku LkkÛkkfeGk rnMkkçke ÃkæækríkLke Bku¤ÔkÛke .......... {kt ÚkkGk Au.

(A) rçkLk MktfrÕkík rnMkkçke Ãkæækrík (B) MktfrÕkík rnMkkçke Ãkæækrík

(C) (A) yLku  (B) (D) WÃkhLkkt  fkuE Lknª

149. nkurMÃkxÕk Ãkzíkh rnMkkçke ÃkæækríkBkkt, ÃkúíGkûk ÃkzíkhBkkt .......... Lkk ÏkåkkoLkku MkBkkÔku~k ÚkkGk Au.

(A) Ôkkuzo (B) BkurzfÕk MkuÔkk rÔkÇkkøk

(C) çknkhLkk ËËeoLkku rÔkÇkkøk (D) WÃkhLkkt  çkækks

150. Ãkzíkh yLku LkkÛkkfeGk rnMkkçke ÃkæækríkLke Bku¤ÔkÛke ÏkkíkkLkk 2 Mkux{kt .......... MkwrLkrùík fhu Au.

(A) åkkufMkkR (B) íkhÕkíkk

(C) LkVkfkhfíkk (D) WÃkhLkkt  fkuE Lknª

151. ftÃkLkeyu Y. 10 Lkku yuf yuÔkk 100 ~kuh,  Y. 1 Lkk rÃkúr{GkBku çknkh ÃkkzuÕkk, íku sÃík fGkko. ~kuh ÔknUåkÛke ÔkÏkíku
rÃkúBkGkBk åkqfÔkÔkkLkwt níkwt. ~kuh nkuÕzh, ~kuh ËeX Y. 3 (rÃkúr{GkBk Mkrník) ÔknUåkÛkeLke hfBk yLku ~kuh ËeX Y. 2

nÃíkkLke hfBk åkqfÔke ~kfuÕk LkÚke. íkku ~kuh sÃíke Ïkkíku fuxÕke hfBk sBkk Úk~ku ?

(A) Y. 500 (B) Y. 600

(C) Y. 700 (D) Y. 200
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144. If a share of Rs 100, on which Rs 60 has been paid, is forfeited, it can be reissued at the
minimum price of _____ .

(A) Rs 60 per share (B) Rs 100 per share

(C) Rs 160 per share (D) Rs 40 per share

145. The service cost is defined as the cost of _____ .

(A) producing goods (B) providing product

(C) providing a service (D) None of the above

146. A public limited company cannot issue the _____ .

(A) Equity shares (B) Deferred shares

(C) preference shares (D) bonus shares

147. Which of the following costs are generally incurred in a hotel?

(A) wages and salaries (B) provisions of foods

(C) internet and Wi-fi services (D) All of the above

148. Cost and financial accounting are reconciled under _____ .

(A) non-integral accounting (B) integral accounting

(C) Both A and B (D) None of the above

149. In hospital costing, direct cost includes the expenditure incurred on _____ .

(A) the ward (B) the medical service department

(C) the outpatient department (D) All of the above

150. Reconciliation of the cost and _____ financial accounts ensures in two sets of accounts.

(A) accuracy (B) liquidity

(C) profitability (D) None of the above

151. A company forfeits 100 shares of Rs. 10 each, issued at Re. 1 premium. The premium was
payable on allotment. The shareholder failed to pay allotment money of Rs. 3 per share
(including premium) and the call money of Rs. 2 per share. How much amount is credited
to forfeited share account?

(A) Rs. 500 (B) Rs. 600

(C) Rs. 700 (D) Rs. 200
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152. òu Y. 10 Lkku ~kuh Y. 1 Lkk ÔkxkÔku, Bkq¤ heíku çknkh ÃkzuÕk sÃík ÚkkGk yLku íkuLkk Ãkh Bk¤uÕk hfBk Y. 2 nkuGk íkku íGkkhu
sÃík ÚkGkuÕk ~kuh Vhe çknkh ÃkkzÔkk Bkn¥k{ ÔkxkÔk .......... ykÃke ~kfkGk.

(A) Y. 1 (B) Y. 2

(C) Y. 3 (D) Y.7

153. rÔkBkkËkhLkk Bk]íGkw ÔkÏkíku Ãkkfíke ÃkkurÕkMkeLku .......... fnuðk{kt ykðu Au.

(A) yuLzkW{uLx ÃkkurÕkMke (B) LkVk Mkrník ÃkkurÕkMke

(C) (A) yLku  (B)  çktLku (D) MktÃkqÛko SÔkLk ÃkkurÕkMke

154. ÔkeBkk ftÃkLkeLkk BknuMkqÕke ÏkkíkkBkkt, rÃkúr{GkBkLkk ÎkxkzkBkkt çkkuLkMk .......... Ë~kkoÔkkÞ Au.

(A) Ïkåko íkhefu (B) ykÔkf íkhefu

(C) (A) yLku  (B)  çktLku (D) WÃkhLkkt  fkuE Lknª

155. ËkÔkkLkk MktËÇkoBkkt ÔkeBkk ftÃkLkeLke fkGkËkfeGk Ve .......... Ë~kkoÔkkBkkt ykÔku Au.

(A) LkVk-Lkwf~kkLk Ïkkíku (B) BknuMkqÕke Ïkkíku

(C) LkVk-Lkwf~kkLk Vk¤ÔkÛke Ïkkíku (D) WÃkhLkkt  fkuE Lknª

156. 1-4-1991 ÃknuÕkk , çkìrLftøk ftÃkLkeLkk rfMMkkBkkt Ïkhkçk yLku Mkt~krGkík ËuÔkkLke òuøkÔkkR .......... .

(A) LkVk-Lkwf~kkLk ÏkkíkkLke Wækkh çkkswyu Ë~kkoÔkÔkkBkkt ykÔkíke

(B) LkVk-Lkwf~kkLk ÏkkíkkLke sBkk çkkswyu Ë~kkoÔkÔkkBkkt ykÔkíke

(C) Ãkúfkr~kík rnMkkçkkuBkk fkuEÃkÛk søGkkyu Ëþkoðkíke Lknª

(D) WÃkhBkkt Úke fkuE Lknª

157. Y. 80,000 Lke åkkuÏÏke rBkÕkfík Bkkxu, Y.1,00,000 Bkq¤ rfBkíkLkk rzçkuLåkh10 % ÔkxkÔku çknkh ÃkkzuÕkk Au,
çkkfeLke Y. 10,000 Lke hfBk fGkk Ïkkíku WækkhÔkkBkkt ykÔk~ku ?

(A) ÃkkÎkze Ïkkíku

(B) Bkqze yLkkBkík Ïkkíku

(C) LkVk-Lkwf~kkLk Ïkkíku

(D) LkVk-Lkwf~kkLk Vk¤ÔkÛke Ïkkíku

158. rzçkuLåkh åkqfÔkÛke çkkË, rzçkuLåkhLkk ®Mk®føk Çktzku¤Lke çkkfe .......... Ïkkíku ÕkE sÔkkBkkt ykÔku Au.

(A) LkVk-Lkwf~kkLk Ïkkíku (B) MkkBkkLGk yLkkBkík Ïkkíku

(C) rzçkuLåkhLkk Ïkkíku (D) ~kuh rÃkúBkGkBk Ïkkíku
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152. If a share of Rs. 10, originally issued at a discount of Re. 1, is forfeited and the amount
received on it was Rs. 2, the maximum discount on reissued of such forfeited share can
be _____ .

(A) Re. 1 (B) Rs. 2

(C) Rs. 3 (D) Rs. 7

153. The insurance maturity only on the death of the insured is termed as _____ .

(A) Endowment policy (B) With profit policy

(C) Bothe (A) and (B) (D) Whole life policy

154. Bonus in reduction of premium appears in the revenue account of insurance company as
_____ .

(A) an expense (B) an income

(C) Both (A) and (B) (D) None of the above

155. Legal fees of insurance company with respect to claim is shown in _____ .

(A) P. & L. account (B) revenue account

(C) P. & L. appropriation account (D) None of the above

156. Prior to 1-4-1991, the provision for the bad and doubtful debts of a banking company
was _____ .

(A) shown in debit side of P. & L. a/c

(B) shown in credit side of P. & L. a/c

(C) Nowhere shown in the published accounts

(D) None of the above

157. If debentures of the nominal value of Rs. 1,00,000 are issued at a discount of 10% for net
assets worth Rs. 80,000, the balance of Rs. 10,000 will be debited to which account?

(A) Goodwill account

(B) Capital reserve account

(C) Profit and loss account

(D) Profit and Loss appropriation account

158. After redemption, the balance of the sinking fund of debentures is transferred to _____ .

(A) Profit and loss account (B) General reserve account

(C) Debentures account (D) Share premium account
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159. rzçkuLåkhLke åkqfÔkÛke Bkkxu ÕkuÔkkBkkt ykÔkuÕk ÔkeBkk ÃkkurÕkMkeLkk rÃkúBkGkBkLke åkqfÔkuÕk hfBk, rnMkkçke Ôk»koLkk ytíku ..........
sBkk fhÔkkBkkt ykÔku Au.

(A) ÔkeBkk ÃkkurÕkMke Ïkkíku

(B) LkVk-Lkwf~kkLk Ïkkíku

(C) LkVk-Lkwf~kkLk Vk¤ÔkÛke Ïkkíku

(D) rzçkuLåkh åkqfÔkÛke Çktzku¤ Ïkkíku

160. çkìrLftøk ftÃkLke Bkkxu ÔkxkÔkuÕk nqtzeLkwt Ôk¤íkh yu ..........

(A) sÔkkçkËkhe Au. (B) Ïkåko Au.

(C) ykÔkf Au. (D) WÃkhLkkt  fkuE Lknª

161. ®Mk®føk Çktzku¤ Ãkæækrík îkhk rzçkuLåkh Ãkhík fhÔkkLkk rfMMkkBkkt, Ëh Ôk»kou rLkrùík hfBk .......... ÕkuÔkkBkkt ykÔku Au.

(A) LkVk-Lkwf~kkLk Ïkkíku

(B) Bkqze yLkkBkík Ïkkíku

(C) LkVk-Lkwf~kkLk Vk¤ÔkÛke Ïkkíku

(D) ~kuh rÃkúBkGkBk Ïkkíku

162. çkìrLftøk ftÃkLkeLke åkqfÔkuÕk Bkqze .......... Lke yzæke (½) nkuÔke òuEyu

(A) yrækf]ík Bkqze (B) LkkUækkGkuÕke Bkqze

(C) BktøkkÔkuÕk Bkqze (D) WÃkhLkkt  fkuE Lknª

163. R-çkìrLftøk yu çkìrLftøkLke yuÔke Ãkæækrík Au suBkkt økúknfku ÔGkÔknkhku EÕkuõxÙkurLkf ÔGkÔkMÚkk .......... îkhk fhu Au.

(A) çkuLf fu~k fkWLxh (B) åkufLkwt ÂõÕkGkhªøk

(C) åkufLkk xÙkLMkVh (D) RLxhLkux

164. ÄtÄkfeÞ hkufkýku Ãkh {¤u÷ rzrðzLz -

(A) {qze ykðf Au. (B) {nuMkq÷e ykðf Au.

(C) {qze ¾[o Au. (D) {nuMkq÷e ¾[o Au.

165. LGkwGkkufoBkkt ykìLk ÕkkRLk çkìrLftøk MkuÔkk .......... ð»ko{kt þY ÚkE.

(A) 1980 (B) 1981

(C) 1971 (D) 1991

166. rzrÔkzLz fkuÛk ònuh fhu Au ?

(A) çkkuzo ykuV zkGkhuõxMko (B) ~kuh nkuÕzMko

(C) åkeV yufÍTGkwfuxeÔk ykurVMkh (CEO) (D) ftÃkLke Mku¢uxhe
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159. The amount paid as a premium for an insurance policy, taken for redemption of debenture,
is credited to _____ at the end of the accounting period.

(A) insurance policy account

(B) profit and loss account

(C) profit and loss appropriation account

(D) debenture redemption fund account

160. For a banking company, the rebate on bills discounted is _____ .

(A) a liability (B) an expense

(C) an income (D) None of the above

161. In case of redemption of debentures by sinking fund method, every year a fixed amount
is taken from _____ .

(A) profit and loss account

(B) capital reserve account

(C) profit and loss appropriation account

(D) share premium account

162. Paid up capital of a banking company must be one half of the _____ .

(A) authorised capital (B) subscribed capital

(C) calledup capital (D) None of the above

163. E-banking is  a method of banking in which the customer conducts transactions
electronically via _____ .

(A) bank cash counter (B) clearing of cheque

(C) transfer of cheque (D) internet

164. Dividends received on business investments is -

(A) capital income (B) revenue income

(C) capital expenditure (D) revenue expenditure

165. Online banking services started in New York in _____ .

(A) 1980 (B) 1981

(C) 1971 (D) 1991

166. Who declares the dividend?

(A) Board of Directors (B) Shareholders

(C) Chief executive officer (D) Company secretary
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167. fR Bkqze çksux Ãkæækrík åkkuÏÏkwt ÔkíkoBkkLk BkqÕGk ~kqLGk çkíkkÔku Au ?

(A) Ãkhík ykÃk MkBkGk Ãkæækrík (B) rnMkkçke Ôk¤íkh ËhLke Ãkæækrík

(C) yktíkrhf Ôk¤íkhLkk ËhLke Ãkæækrík (D) åkkuÏÏkk ÔkíkoBkkLk BkqÕGkLke Ãkæækrík

168. fE Bkqze çksux Ãkæækrík LkkÛkktLkk MkBkGkLkk BkqÕGkLku æGkkLkBkkt Õku Au ?

(A) åkkuÏÏkk ÔkíkoBkkLk BkqÕGk (B) Ãkhík ykÃk MkBkGk

(C) rnMkkçke Ôk¤íkhLkku  Ëh (D) WÃkhLkkt  fkuE Lknª

169. ~kuhLkwt çkúuf-yÃk BkqÕGk .......... îkhk rLkækkorhík fhe ~kfkGk.

(A) WÃks Ãkæækrík (B) åkkuÏÏke rBkÕkfíkkuLke Ãkæækrík

(C) Mxkuf yuõMåkUsLkk yÔkíkhÛk (D) MkwÃkh LkVkLke ÏkheË Ãkæækrík

170. PQR Õke. Lkwt røkGkrhtøk ÃkúBkkÛk 30% Au. RÂõÔkxe Ãkzíkh 20% yLku ËuÔkkLke Ãkzíkh 15% Au. fkuÃkkouhux fhLkku Ëh
40% Au, íkku Bkqze ÃkzíkhLke Çkkrhík Mkhuhk~k (WACC) ~kwt Úk~ku ?

(A) 16.70 (B) 17.22

(C) 15.80 (D) 15.22

171. ®f{ík WÃks ÃkúBkkÛkLkk ykækkhu ~kuhLkwt BkqÕGk Lkõfe fhíke ÔkÏkíku, .......... Mktçktækeík BkkrníkeLke sYh Ãkzu Au.

(A) MkkBkkLGk Ôk¤íkhLkku Ëh (B) yMkBkkLGk Ôk¤íkhLkku Ëh

(C) æktækkBkkt hkufkGkuÕke Bkqze (D) ~kuh ËeX fBkkÛke

172. fkGkBke rBkÕkfíkLkku ÎkMkkhku yrMíkíÔkLkk MkBkGk ÃknuÕkk yLku ÃkAe .......... Lkk ÃkúBkkÛkBkkt ÔknUåkkGk Au.

(A) ÔkuåkkÛk økwÛkku¥kh (B) MkBkGk økwÛkku¥kh

(C) rBkÕkfík økwÛkku¥kh (D) Bkqze økwÛkku¥kh

173. fkGkofkhe  (ykuÃkuhu®xøk) rÕkÔkhus yuxÕku .......... .

(A) Vk¤ku / fkGkofkhe LkVku (B) fkGkofkhe LkVku / fh ÃknuÕkkLkku LkVku

(C) fkGkofkhe LkVku / fh ÃkAeLkku LkVku (D) WÃkhLkkt  fkuE Lknª

174. RÂõÔkxe ÃkhLkku ÔkuÃkkh .......... WÃkh Ôk¤íkhLke yMkh Ë~kkoÔku Au.

(A) ËuÔkkLke Bkqze (B) ÃkúuVhLMk Bkqze

(C) (A) yLku (B)  çktLku (D) RÂõÔkxe Bkqze

175. yufrºkík Lkwf~kkLk Bkktze ÔkéGkk ÃkAe, Bkqze Îkxkzk ÏkkíkkLke çkkfe .......... ¾kíku ÕkE sÔkkBkkt ykÔku Au.

(A) MkkBkkLGk yLkkBkík (B) ~kuh Bkqze

(C) Bkqze yLkkBkík (D) LkVk-Lkwf~kkLk Ïkkíku
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167. Which of the following capital budgeting techniques shows the net present value zero?

(A) Pay-back period method (B) Accounting rate of return method

(C) Internal Rate of Return Method (D) Net present value method

168. Which of the following Capital Budgeting Techniques recognizes the time value of money?

(A) Net Present Value (B) Pay-back Period

(C) Accounting Rate of Return (D) None of the above

169. Breakup value of share can be determined by _____ .

(A) Yield method (B) Net assets method

(C) Stock exchange quotation (D) Purchase of super profits method

170. PQR Ltd. has gearing ratio of 30% the cost of equity is computed at 20% and the cost of
debt is 15% the corporate tax rate is 40% . What will be weighted average cost of capital
(WACC) ?

(A) 16.70 (B) 17.22

(C) 15.80 (D) 15.22

171. For determining the value of shares on the basis of price earnings ratio, information is
required regarding _____ .

(A) Normal rate of return (B) Abnormal rate of return

(C) Capital employed in business (D) Earnings per share

172. Depreciation of fixed assets should be divided between pre and post incorporation periods
in .................... .

(A) Sales ratio (B) Time ratio

(C) Assets ratio (D) Capital ratio

173. Operating leverage means ..................... .

(A) Contribution / Operating profit (B) Operating profit / profit before Tax

(C) Operating profit / profit after Tax (D) None of the above

174. Trading of equity shows the impact of return on ...................... .

(A) Debt capital (B) Preference capital

(C) Both (A) and (B) (D) Equity capital

175. The balance in capital reduction account, after writing off the accumulated losses is
transferred to ....................... .

(A) General reserve (B) Share capital

(C) Capital reserve (D) Profit & loss account
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176. åkkuÏÏke fkGkofkhe ykÔkf yrÇkøkBk Bkwsçk, ÃkuZeLkwt BkwÕGk .......... nkuÞ Au.

(A) íkuLkk Bkqze Bkk¤ÏkkÚke MÔkíktºk (B) íkuLkk Bkqze Bkk¤ÏkkLku ykækkrhík

(C) (A) yLku  (B)  çktLku (D) WÃkhLkkt  fkuE Lknª

177. LkÔke ftÃkLke Z Õke. çkLkkÔkÔkk X Õke. yLku Y Õke. VzåkkBkkt òGk Au. íku çkkçkík .......... økýkÞ.

(A) MkBkkÔku~k (B) çkkÌk ÃkwLk:håkLkk

(C) yktíkrhf ÃkwLk:håkLkk (D) òuzkÛk

178. MkBkkÔku~kLkk MkBkGku, ÔkuåkLkkh ftÃkLke ÃkúkÚkrBkf Ïkåkko .......... VuhçkËÕk fhu Au.

(A) ÏkheË ftÃkLke Ïkkíku (B) ÔkMkqÕkkík Ïkkíku

(C) RÂõÔkxe ~kuh nkuÕzh Ïkkíku (D) WÃkhLkkt  fkuE Lknª

179. sÔkkçkËkhe rnMkkçke Ãkæækrík yu .......... Lkku Çkkøk Au.

(A) Ôkirïf sÔkkçkËkhe Ãkæækrík (B) yktíkhef ynuÔkkÕk Ãkæækrík

(C) çkkÌk ynuÔkkÕk Ãkæækrík (D) fkuÃkkouhux ynuÔkkÕk Ãkæækrík

180. xÙkLMkVh ®fBkík yu .......... MkkÚku Mktçktrækík Au.

(A) ÔGkÔkMÚkkíktºkLkk RLxÙk rÔkÇkkøk

(B) yktíkhef ÔGkÔkMÚkkíktºk xÙkLMkVh

(C) yuf çknwhk»xÙeGkÚke çkeS çknwhk»xÙeGk

(D) WÃkhLkkt  fkuE Lknª

181. ÔkuÃkkh sÔkkçkËkhe ~kuLkk ykækkhu WËÇkÔku Au ?

(A) rBkÕkfíkkuLke ÏkheËe (B) BkkÕkLke ÏkheËe

(C) rzçkuLåkhLke ÏkheËe (D) åkqfÔkÔkkLkk çkkfe ÃkøkkhLke ÏkheËe

182. yufrºkík LkVk{kt .......... Lkku MkBkkÔku~k nkuÞ Au.

(A) Mkt~krGkík ËuÔkkLke òuøkÔkkRyku (B) fBkoåkkheLkku ÃkúkurÔkzLx Vtz

(C) ÔkeBkk Vtz (D) çkUf ykuÔkh zÙk^x

183. xÙkLMkVh ®fBkíkLkeíke Ãkæækrík nuX¤ rÔkÇkkøkLku .......... økÛkÔkkBkkt ykÔku Au.

(A) Ãkzíkh fuLÿ (B) hkufkÛk fuLÿ

(C) Ãkæækrík fuLÿ (D) LkVk fuLÿ
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176. According to Net Operating Income approach, value of firm is _____ .

(A) Independent on its capital structure (B) Dependent on its capital structure

(C) Both (A) and (B) (D) None of the above

177. X Ltd. and Y Ltd. go into liquidation to form a new company Z Ltd. It is a case of _____ .

(A) Absorption (B) External reconstruction

(C) Internal reconstruction (D) Amalgamation

178. At the time of absorption, the preliminary expenses are transferred to _____ by the vendor
company.

(A) Purchasing company account (B) Realisation account

(C) Equity shareholder’s account (D) None of the above

179. Responsibility accounting is a part of _____ .

(A) Global Responsibility System (B) Internal Reporting System

(C) External Reporting System (D) Corporate Reporting System

180. Transfer pricing is concerned with _____ .

(A) Intra-divisions of an Organisation

(B) Inter-Organizational transfer

(C) One multinational to another multinational

(D) None of the above

181. Trade liabilities incurred on account of .................. .

(A) Purchase of assets (B) Purchase of goods

(C) Purchase of debentures (D) Purchase of outstanding salaries

182. Accumulated profits include .................. .

(A) Provision for doubtful debts (B) Employee’s provident fund

(C) Insurance fund (D) Bank overdraft

183. Division under transfer pricing system is treated as .................. .

(A) Cost centre (B) Investment centre

(C) System centre (D) Profit centre
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184. ÏkheËe Bkkxu MkhfkhLku åkqfÔkÔkkLke çkkfe hfBk yu .......... Lkwt WËknhÛk Au.

(A) ÃkMktËøkeLkk ÕkuÛkËkhku (B) MkÕkkBkík ÕkuÛkËkhku

(C) rçkLkMkÕkkBkík ÕkuÛkËkhku (D) rÔkr~k»x ÕkuÛkËkhku

185. Mkæækh ftÃkLkeLkk rfMMkkBkkt, rzçkuLåkhLkwt ÔGkks .......... Lke íkkheÏk MkwækeLkwt åkqfÔkkGk.

(A) Ãkkfwt MkhÔkiGkwt (B) åkqfÔkÛke

(C) MkBkkÃkLkLke ~kYykíkBkkt (D) MkBkkÃkLkLkk ytíku

186. rzçkuLåkh nkuÕzMko fu suLku ^÷ku®xøk åkkso Au íkuLku .......... fhíkkt åkqfÔkÛkeBkkt yøkúíkk nkuGk Au.

(A) ÃkMktËøkeLkk ÕkuÛkËkhku (B) MkÕkkBkík ÕkuÛkËkhku

(C) rçkLkMkÕkkBkík ÕkuÛkËkhku (D) ~kuh nkuÕzMko

187. rÕkÂõÔkzuxMko ykÏkhe rnMkkçkLkwt Ãkºkf .......... çkLkkÔku Au.

(A) MkBkkÃkLk Lke íkBkkBk rMÚkríkykuBkkt

(B) Võík MkÇGkLkk MÔkiråAf MkBkkÃkLkLkk rfMMkkBkkt

(C) Võík VhrsGkkík MkBkkÃkLkLkk rfMMkkBkkt

(D) fkuxoLke ËuÏkhuÏk nuX¤Lkk MkBkkÃkLkLkk rfMMkkBkkt

188. ftÃkLkeLkk fBkoåkkheykuLku ÔkuíkLk åkqfÔkÔkk Bkkxu ykÃkuÕk LkkÛkkt Ãku~køke yu .......... MÔkYÃkLkk Au.

(A) MkÕkkBkík ÕkuÛkËkhku (B) rçkLkMkÕkkBkík ÕkuÛkËkhku

(C) ÃkMktËøkeLkk ÕkuÛkËkhku (D) WÃkhLkkt  fkuE Lknª

189. xÙkLMkVh ®fBkíkLkeríkLke ÃkúÏGkkík Ãkæækrík .......... Au.

(A) Ãkzíkh ykækkrhík ®fBkíkLkerík (B) çkòh ykækkrhík ®fBkíkLkerík

(C) ÔkkxkÎkkx ®fBkíkLkerík (D) ÔkifrÕÃkf Ãkzíkh ®fBkíkLkerík

190. VzåkkBkkt yÚkÔkk MkBkkÃkLk ykÏkhu .......... íkhV Ëkuhe òGk Au.

(A) ftÃkLkeLke MÚkkÃkLkk (B) ftÃkLkeLke ÃkwLk:håkLkk

(C) ftÃkLkeLke ~kYykík (D) ftÃkLkeLkwt rÔkMksoLk

191. ÃkúÔk]rík ykækkrhík Ãkzíkh Ãkæækrík yu .......... Lkwt íkkrfof rÔkíkhÛk Au.

(A) fwÕk Ãkzíkh (B) r~khkuÃkhe Ïkåkko

(C) ÃkúíGkûk Ãkzíkh (D) ÃkúBkkÛk Ãkzíkh
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184. Amount due to the government for purchases is an example of _____ .

(A) Preferential creditor (B) Secured creditor

(C) Unsecured creditor (D) Special creditor

185. In case a company is solvent, the interest on debentures is paid upto the date of _____.

(A) The balance sheet (B) Payment

(C) The commencement of winding up (D) The ending of winding up

186. Debenture holders, having floating charge, have priority in payment over the _____ .

(A) Preferential creditors (B) Secured creditors

(C) Unsecured creditors (D) Shareholders

187. Liquidator’s final statement of account is prepared _____ .

(A) In all modes of winding up

(B) Only in case of members voluntary winding up

(C) Only in case of compulsory winding up

(D) In case of winding up under the supervision of the court

188. Money advanced by director to the company to pay wages to the workers of the company
is of the nature of a _____ .

(A) Secured creditors (B) Unsecured creditors

(C) Preferential creditors (D) None of the above

189. Popular method of transfer pricing is the _____ .

(A) Cost based pricing (B) Market based pricing

(C) Negotiated pricing (D) Opportunity cost pricing

190. Liquidation or winding up ultimately leads to _____ .

(A) Formation of a company (B) Reconstruction of a company

(C) Start up of a company (D) Dissolution of a company

191. Activity based costing is a logical distribution of _____ .

(A) Total cost (B) Overheads

(C) Direct cost (D) Standard cost
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192. Ãkkfk MkhðiÞk{kt .......... Ãkh[whý ¾[o LkÚke.

(A) «kÚkr{f ¾[ko (B) yLzhhkExªøk fr{þLk

(C) þuMko Ãkh ykÃku÷ ðxkð (D) {qze [k÷w fk{

193. òu økkiý ftÃkLkeyu íkuLkk þuh WÃkh rzrðzLz Mkqr[ík fÞwO nkuÞ, Ãkhtíkw þkMkf ftÃkLkeyu yu Mkqr[ík rzrðztzLke fkuE LkkUÄ
ÃkMkkh fhe Lk nkuÞ íkku yu Mkqr[ík rzrðztzLke hf{ ÃkkAe .......... W{uhkÞ Au.

(A) ~kkMkf ftÃkLkeLkkt LkVkBkkt (B) økkiÛk ftÃkLkeLkk LkVkBkkt

(C) (A) yLku  (B)  çktLku (D) WÃkhLkkt  fkuE Lknª

194. ßGkkhu ÃkqÔko MktÃkkrËík LkVkBkktÚke rzrÔkztzLke MkBkøkú hfBk åkqfÔkuÕk nkuGk íGkkhu, rzrÔkzLzLke hfBk .......... sBkk ÚkkGk Au.

(A) LkVk-Lkwf~kkLk Ïkkíku (B) LkVk-Lkwf~kkLk Vk¤ÔkÛke Ïkkíku

(C) hkufkÛk Ïkkíku (D) WÃkhLkkt  fkuE Lknª

195. ~kkMkf yLku økkiÛk ftÃkLkeyku yufçkeòLkk ~kuhku ækhkÔku íku ÂMÚkríkLku .......... fnuðkÞ Au.

(A) åkuRLk nku®Õzøk (B) rÔkr~k»x nku®Õzøk

(C) LkfkBkw nku®Õzøk (D) ¢kuMk nku®Õzøk

196. økkiÛk ftÃkLkeLke ÕkÎkwBkíke .......... Bku¤ÔkÔkk Ãkkºk Au.

(A) Bkqze LkVku (B) BknuMkqÕke LkVku

(C) Bkqze yLku BknuMkqÕke LkVku çktLku (D) WÃkhLkkt  fkuE Lknª

197. ytfw~k ÏkkíkkLke Ãkzíkh .......... {kt sBkk ÚkkGk Au.

(A) BknuMkqÕke LkVku (B) Bkwze LkVku

(C) Bkqze yLku BknuMkqÕke LkVku çktLku (D) WÃkhLkkt  fkuE Lknª

198. Bkqze LkVkBkktÚke økkiÛk ftÃkLkeyu çknkh ÃkzuÕk çkkuLkMk ~kuhÚke ......... .

(A) ytfw~k Ãkzíkh Ãkh fkuE yMkh Lknª ÚkkGk (B) ytfw~k Ãkzíkh Ôkæk~ku

(C) ytfw~k Ãkzíkh Îkx~ku (D) WÃkhLkkt  fkuE Lknª

199. yufrºkík Ãkkfk MkhÔkiGkkBkkt yktíkh ftÃkLkeLkwt rzrÔkzLz Ïkkíkwt .......... Ë~kkoÔkkÞ Au.

(A) rBkÕkfíkku çkksw (B) sÔkkËkheyku çkksw

(C) (A) yÚkÔkk (B) (D) õGkktGk Lknª

200. Ãkkfk MkhÔkiGkkBkkt ykfrMBkf sÔkkçkËkhe õGkkt Ë~kkoÔkkGk Au ?

(A) sÔkkçkËkhe íkhefu (B) rBkÕkfík íkhefu

(C) Vqx Lkkux íkhefu (D) õGkktGk Lknª

dataad1
Highlight

dataad1
Highlight

dataad1
Highlight

dataad1
Highlight

dataad1
Highlight

dataad1
Highlight

dataad1
Highlight

dataad1
Highlight

dataad1
Highlight



ACG - A ] 37 P.T.O.

192. The following is not miscellaneous expenditure in the balance-sheet.

(A) Preliminary expenses (B) Underwriting commission

(C) Discount allowed on shares (D) Capital work in progress

193. In case the subsidiary company has proposed a dividend on its shares but the holding
company has not passed any entry for such dividend, the amount of the proposed dividend
may be added back to _____ .

(A) The holding company’s profits (B) the subsidiary company’s profits

(C) Both (A) and (B) (D) None of the above

194. When entire amount of dividend is paid out of pre-acquisition profits, the amount of
dividend is credited to _____ .

(A) Profit and loss account (B) Profit and loss appropriation account

(C) Investment account (D) None of the above

195. A situation where the holding and subsidiary companies own shares of each other, it is
called _____ .

(A) Chain holdings (B) Special holdings

(C) Useless holding (D) Cross holdings

196. The minority of the subsidiary company is entitled to _____ .

(A) Capital profits (B) Revenue profits

(C) Both (A) and (B) (D) None of the above

197. Cost of control account is credited with _____ .

(A) Revenue profits (B) Capital profits

(C) Both (A) and (B) (D) None of the above

198. Issue of bonus shares by the subsidiary company out of capital profits will _____ .

(A) Have no effect on cost of control (B) Increase cost of control

(C) Decrease cost of control (D) None of the above

199. Inter-company owings on account of dividends will be shown in the consolidated balance
sheet on _____ .

(A) The assets side (B) The liabilities side

(C) Either (A) or (B) (D) None of the above

200. Where is the contingent liabilities shown in the balance sheet ?

(A) As liabilities (B) As assets

(C) As a foot note (D) None of the above
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201. ÃkúÔk]rík ykækkrhík Ãkzíkh Ãkæækrík .......... WÃkh ykÄkrhík Au.

(A) Ãkzíkh Îkxkzk (B) fkBkøkehe MktåkkÕkLk

(C) yMkhfkhf Ãkzíkh ytfw~k (D) yMkhfkhf MktåkkÕkLk

202. åkkuÏÏke fkGko~keÕk Bkqze yux÷u fwÕk åkkÕkw rBkÕkfíkku çkkË .......... .

(A) BkkÕkMkkBkøkúe (B) hkufz yLku çkuLf

(C) fwÕk åkkÕkw sÔkkçkËkheyku (D) çkuLf ykuÔkhzÙkVTx

203. MktåkkÕkfeGk rnMkkçke ÃkæækríkLkwt BkwÏGk fkGko .......... Au.

(A) MktåkkÕkLkLku íkuLkk fkGkkouLke yMkhfkhf fkBkøkeheBkkt BkËËYÃk ÚkÔkkLkwt

(B) íkBkkBk æktækkfeGk ÔGkÔknkhku LkkUækÔkkLkwt

(C) LkkÛkktfeGk BkkrníkeLkk yÚkoÎkxLk fhÔkkLkwt

(D) LkkÛkktfeGk BkkrníkeLke økÛkíkhe fhÔkkLkwt

204. SÔkLk åk¢ Ãkzíkh .......... MkkÚku MktçktrÄík Au.

(A) MktÃkkËLk Ãkzíkh (B) MkBkøkú SÔkLk Ãkzíkh

(C) fkGkofkhe Ãkzíkh (D) rÔkfkMk Ãkzíkh

205. SÔkLk åk¢ Ãkzíkh Ãkæækrík .......... {kt WÃkÞkuøke Au.

(A) Bkqze ytËksÃkºkLkk rLkÛkoGkku (B) MkeBkktík Ãkzíkh ÃkæækríkLkk rLkÛkoGkku

(C) yufBk Ãkzíkh ÃkæækríkLkk rLkÛkoGkku (D) ÃkúBkkÛk Ãkzíkh ÃkæækríkLkk rLkÛkoGkku

206. Just-in-Time (JIT - MkBkGkMkh) yu ÔGkqnhåkLkk .......... Lku yMkh fhu Au.

(A) BkkÕkMkkBkøkúe ytfw~k (B) rBkÕkfík ytfw~k

(C) hkufz ytfw~k (D) WÃkhLkkt  fkuE Lknª

207. ÏkheËeLkk fkhÛku fkGkBke rBkÕkfíkkuBkkt Ôkækkhku yu .......... Au.

(A) Çktzku¤Lkku Mºkkuík (B) Çktzku¤Lkku WÃkGkkuøk

(C) ÔkuåkkÛkBkkt Ôkækkhku (D) ÔkuåkkÛkBkkt Îkxkzku

208. MkBkGkMkh  (sMx RLk xkEBk ) yu .......... Lkk MktfÕkLk yLku MkBkfkÕkefhÛkLke Ïkkíkhe ykÃku Au.

(A) íkBkkBk fkGkkou (B) BkkÕkMkkBkkLk ÃkúÔkkn

(C) WÃkhLkkt (A) yLku (B) (D) WÃkhLkkt  fkuE Lknª
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201. Activity Based Costing focuses on _____ .

(A) Cost reduction (B) Performance management

(C) Effective cost control (D) Efficient management

202. Net working capital is total current assets less_____.

(A) Inventories (B) Cash and bank

(C) Total current liabilities (D) Bank Overdraft

203. The basic function of Management Accounting is to_____.

(A) Assist the management in performing its function effectively

(B) Record all business transactions

(C) Interpret the financial data

(D) Calculation of financial data

204. Lift Cycle cost is concerned with_____.

(A) Acquisition cost (B) Whole life cost

(C) Operating cost (D) Development cost

205. Life cycle costing is useful in _____.

(A) Capital budgeting decisions (B) Marginal costing decisions

(C) Unit costing decisions (D) Standard Costing decisions

206. Just-in-time (JIT) is an operating strategy that has significant effect on_____.

(A) Inventory control (B) Asset control

(C) Cash control (D) None of the above

207. The increase in the fixed assets because of purchases is the _____.

(A) Source of fund (B) use of fund

(C) increase in sales (D) decrease in sales

208. Just-in-Time (JIT) ensures coordination and synchronization of _____.

(A) All Operations (B) Materials flows

(C) Both A and B (D) None of the above
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209. åkqfÔkuÕk fh yu ..........

(A) Çktzku¤Lkku WÃkGkkuøk Au. (B) Çktzku¤Lkku Mºkkuºk Au.

(C) fhËkíkkLke ykÔkf Au. (D) Çktzku¤Lkku ÃkúÔkkn LkÚke.

210. Ôk»koLkk ytíkLkku Mxkuf .......... {kt ÃkrhÛkBku Au.

(A) ÔkuåkkÛkBkkt Ôkækkhk (B) ÔkuåkkÛkBkkt Îkxkzk

(C) Çktzku¤Lkku WÃkGkkuøk (D) Çktzku¤Lkku Mºkkuºk

211. .......... yu ykurzxLkku Ãkúfkh LkÚke.

(A) ÔGkÂõíkøkík ykurzx (B) çkkÌk ykurzx

(C) yktíkrhf ykurzx (D) fh ykurzx

212. .......... yu ykurzxLke heík Au.

(A) íkÃkkMk (B) yÔkÕkkufLk

(C) ÃkqAÃkhA (D) WÃkhLkkt  çkækk s

213. Õkktçkk økk¤kLkk hkufkÛkkuLkwt ÔkuåkkÛk .......... Ë~kkoÔku Au.

(A) åkkÕkw rBkÕkfíkkuBkkt VuhVkh (B) åkkÕkw sÔkkçkËkheBkkt VuhVkh

(C) Çktzku¤Lkk Mºkkuºk (D) Çktzku¤Lkku WÃkGkkuøk

214. ykurz®xøk yLku íkÃkkMk yu .......... .

(A) LkfkBkkt Au (B) sYhe LkÚke

(C) yufs Au (D) yufs LkÚke

215. yufBkLkwt hkufz ÃkúÔkknÃkºkf .......... Bkwsçk íkiGkkh fhÔkwt òuEyu.

(A) IAS - 7 (B) I A S - 3

(C) IFRS - 3 (D) IFRS - 10

216. BkqÕGk Ôkrækoík Ãkºkf (VAS) Lku .......... Lkku yøkíÞLkku ¼køk økýðk{kt ykðu Au.

(A) fkuÃkkouhux MkkBkkrsf ynuÔkkÕk (B) ÔGkÂõíkøkík ynuÔkkÕk

(C) rÔkÇkkøkeGk ynuÔkkÕk (D) WÃkhLkkt fkuE Lknª

217. ykrÚkof BkqÕGk Ôkrækoík (EVA) yu ÃkuZeLkk .......... Lkku ytËks Au.

(A) åkkuÏÏkku LkVk (B) ykrÚkof LkVk

(C) fkåkku LkVk (D) WÃkhLkkt fkuE Lknª
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209. Tax paid is_____.

(A) Application of funds (B) Source of funds

(C) Income of tax payer (D) No flow of funds

210. Stock at the end of the year results in the _____.

(A) increase in sales (B) decrease in sales

(C) application of fund (D) source of fund

211. Which of the following is not a type of audit?

(A) Personal Audit (B) External Audit

(C) Internal Audit (D) Tax Audit

212. _____ is a technique of auditing

(A) Inspection (B) observation

(C) Enquiry (D) All of the above

213. Sale of long-term investments indicates_____.

(A) Change in current assets (B) Change in current liabilities

(C) Source of funds (D) Application of funds

214. Auditing and inspection are_____.

(A) Useless (B) Not necessary

(C) The same (D) Not the same

215. The cash flow statement of an entity should be prepared as per _____.

(A) IAS - 7 (B) IAS - 3

(C) IFRS - 3 (D) IFRS - 10

216. Value Added Statement (VAS) is regarded as an important part of _____.

(A) Corporate Social Reporting (B) Personal Reporting

(C) Segment Reporting (D) None of the above

217. Economics Value Added (EVA) is an Estimate of a firm’s _____.

(A) Net profit (B) Economic profit

(C) Gross profit (D) None of the above
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218. ftÃkLke Bkkxu BkwÏGk æGkuGk .......... îkhk íkuLkk ~kuhnkuÕzhLke MktÃkr¥kBkkt Ôkækkhku fhÔkkLkwt Au.

(A) rzrÔkztzLke åkwfÔkÛke (B) ~kuhLke ®fBkíkBkkt Ôkækkhk

(C) (A) yLku (B) çktLku (D) WÃkhLkkt fkuE Lknª

219. Bkqze ÃkúÔkknLkk MÔkYÃkBkkt ÔGkÔknkhLkku .......... {kt MkBkkÔku~k Úkíkku LkÚke

(A) rÔkËu~ke ÃkúíGkûk hkufkÛk (FDI)

(B) Ôkirïf rzÃkkuÍexhe hMkeË (GDR)

(C) Bkqze BkkÕk

(D) WÃkhLkkt fkuE Lknª

220. rÔkËu~ke åkÕkÛk rnMkkçke Ãkæækrík çku Ëu~kku ÔkååkuLkk .......... Lkk ÔGkÔknkhku æGkkLkBkkt Õku Au.

(A) ÔkuÃkkh Mktçktæke BkkÕk yLku / yÚkÔkk MkuÔkk (B) Bkqze BkkÕk

(C) Bkqze ÃkúÔkkn (D) WÃkhLkkt çkækks

221. zâw ÃkkuLx åkkxo .......... yu rðfMkkÔÞku.

(A) Ãkúku. çÕkuf (B) Ãkúku. ÔnkRx

(C) Ãkúku. çkúkWLk (D) Ãkúku. õÕkkfo

222. Lkeåku BkwsçkLke Bkkrníke ykÃkÔkkBkkt ykÔkuÕk Au :

fwÕk rBkÕkfíkku Y. 1,00,000

hkufkÛk Ãkh Ôk¤íkh 20%

Bkqze åkkrsoMk 12%

íkku ykrÚkof BkqÕGk Ôkrækoík (EVA) ~kwt Úk~ku ?

(A) Y. 20,000 (B) Y. 12,000

(C) Y. 32,000 (D) Y. 8,000

223. çku ÕkuÛkËuÛk fhíkkt Ëu~kku Ôkååku rÔkËu~ke nwtrzGkkBkÛkLkku Ëh, ÔGkÔknkh íkkhe¾u .......... íkhefu yku¤ÏkÔkkBkkt ykÔku Au.

(A) VkuhÔkzo hux (B) çkufÔkzo hux

(C) zkGkhuõx hux (D) MÃkkux hux

224. hkufz ÃkúÔkkn ÃkºkfBkkt, Bk¤uÕk ÔGkks yu .......... økýkÞ Au.

(A) LkkÛkktfeGk ÃkúÔk]ríkyku (B) hkufkÛk ÃkúÔk]ríkyku

(C) fkGkofkhe ÃkúÔk]ríkyku (D) æktækkËkhe ÃkúÔk]ríkyku

225. hkufz ÃkúÔkkn ÃkºkfBkkt , åkqfÔkuÕk rzrÔkztz yu .......... økýkÞ Au.

(A) fkGkofkhe ÃkúÔk]r¥kyku (B) hkufkÛk ÃkúÔk]r¥kyku

(C) LkkÛkktfeGk ÃkúÔk]r¥kyku (D) fkuÃkkouhux ÃkúÔk]r¥kyku
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218. The primary goal of company is to increase the wealth of its shareholders by _____.

(A) Paying dividends (B) Causing the stock price to increase

(C) Both A and B (D) None of the the above

219. Transaction in the form of capital flows does not include_____.

(A) Foreign direct investment(FDI)

(B) Global Depository Receipts (GDR)

(C) Capital Goods

(D) None of the above

220. Foreign currency accounting considers _____ transactions between two countries.

(A) The Mercantile goods and/or service (B) The Capital Goods

(C) The Capital flows (D) All of the above

221. Du pont chart was developed by_____.

(A) Prof. Black (B) Prof. White

(C) Prof. Brown (D) Prof. Clerk

222. The following information is given:

Total Assets - Rs. 1,00,000

Return of Investment - 20%

Capital Charges - 12%

What will be Economic Value Added (EVA)?

(A) Rs. 20,000 (B) Rs. 12,000

(C) Rs. 32,000 (D) Rs. 8,000

223. The Foreign exchange rate between the two dealing countries on the transaction date is
knows as _____.

(A) Forward rate (B) Backward rate

(C) Direct rate (D) Spot rate

224. In the Cash flow statement, interest received is_____

(A) Financing activities (B) Investing activities

(C) Operating activities (D) Business activities

225. In the Cash Flow Statement dividend paid is _____.

(A) Operating activities (B) Investing activities

(C) Financing activities (D) Corporate activities
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226. ~kYykíkLkku fkGkofkhe hkufz ÃkúÔkkn Bku¤ÔkÔkk Bkkxu ½MkkhkLku .......... .

(A) åkkuÏÏke ykÔkfBkkt Ãkhík WBkuhÔkku (B) åkkuÏÏke ykÔkfBkkÚke çkkË fhÔkku

(C) rBkÕkfíkBkkt Ãkhík WBkuhÔkku (D) rBkÕkfíkBkktÚke çkkË fhÔkku

227. fkuÃkkouhux økÔkLkoLMk yrLkÔkkGkoÃkÛku ftÃkLkeLkk rníkLku .......... MkkÚku MktíkwrÕkík fhu Au.

(A) ~kuh nkuÕzMko (B) MknÇkkøkeyku

(C) Mkhfkh (D) MkBkks

228. ftÃkLke ækkhk 2013 Bkwsçk, Ëhuf ftÃkLkeLkk çkkuzo{kt .......... Lke rLkBkÛkqtf yrLkÔkkGko Au.

(A) yuf hnuÔkkMke zkGkhuõxh (B) yuf MÔkíktºk zkGkhuõxh

(C) yuf Mºke zkGkhuõxh (D) WÃkhLkk fkuE Lknª

229. MxkufLkk Lkwf~kkLkLkku ËkÔkku yu .......... økýkÞ.

(A) hkufkÛk ÃkúÔk]r¥k (B) LkkÛkktfeGk ÃkúÔk]r¥k

(C) fkGkofkhe ÃkúÔk]r¥k (D) Mxkuf ÃkúÔk]r¥k

230. MkuÔkk fh Mkki ÃkúÚkBk Ôkkh .......... ð»koLkk ytËksÃkºkBkkt ÃkúMíkwík fhÔkkBkkt ykÔGkku.

(A) 2010-11 (B) 1995-96

(C) 2001-02 (D) 1994-95

231. RLfBk xuõMk heVtz yu ..........{ktÚke Úkíkku hkufz ykðf «ðkn Au.

(A) fkGkofkhe ÃkúÔk]ríkyku (B) LkkÛkktfeGk ÃkúÔk]ríkyku

(C) hkufkÛk ÃkúÔk]ríkyku (D) ykÔkf ÃkúÔk]ríkyku

232. ykÔkfÔkuhkLke òuøkÔkkRyku Ôk»ko 2015 Bkkt Y. 40,000 yLku Ôk»ko 2016 Bkkt Y. 50,000 Au. Ôk»ko 2016. ËhBGkkLk
ykÔkfÔkuhku Y. 35,000 åkqfÔkuÕk níkku. íkku LkVk-Lkwf~kkLk nÔkkÕkk Ïkkíku .......... WækkhÔkkBkkt ykÔk~ku.

(A) Y. 40,000 (B) Y. 50,000

(C) Y. 45,000 (D) Y. 35,000

233. XYZ rÕk. LkeåkuLke Bkkrníke ykÃku Au :

Ôk»ko 2015 (Y. ÕkkÏkBkkt) 2016 (Y. ÕkkÏkBkkt)

åkkÕkw rBkÕkfíkku 65 95

åkkÕkw ËuÔkkt 10 15

íkku 2016Bkkt fkGko~keÕk BkqzeBkkt fuxÕkku Ôkækkhku Úk~ku ?

(A) Y. 55 ÕkkÏk (B) Y. 25 ÕkkÏk

(C) Y. 80 ÕkkÏk (D) WÃkhLkk fkuE Lknª
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226. In order to arrive at the operating cash flow, depreciation is _____.

(A) Added back to net income (B) Subtract from the net Income

(C) Added back to asset (D) Subtract from asset

227. Corporate governance essentially involves balancing the interests of a company with
the _____.

(A) Shareholders (B) Many stakeholders

(C) Government (D) Community

228. Every company is required to appoint _____ on its board under the companies act, 2013

(A) One Resident director (B) One Independent director

(C) One woman director (D) None of the above

229. Claim for loss of stock is _____.

(A) investing activity (B) financing activity

(C) operating activity (D) stock activity

230. Service tax was first introduced in India in the budget of _____.

(A) 2010-11 (B) 1995-1996

(C) 2001-02 (D) 1994-95

231. Income tax Refund is cash inflow from____

(A) operating activities (B) financially activities

(C) investing activities (D) income activities

232. Income tax provision for the year 2015 is Rs. 40,000 and Rs. 50,000 in the 2016. Income
tax Rs. 35,000 was paid during the year 2016. The amount debited to the adjustment
profit And loss account will be _____.

(A) Rs. 40,000 (B) Rs. 50,000

(C) Rs. 45,000 (D) Rs. 35,000

233. XYZ Ltd. gives the following data:

Year 2015 (Rs. Lakhs) 2016 (Rs. Lakhs)

Current Assets 65 95

Current Liabilities 10 15

How Much Increase in working capital in the year 2016?

(A) Rs. 55 lakh (B) Rs.25 lakh

(C) Rs. 80 lakh (D) None of the Above
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234. MkuÔkk fh fkuÛk åkqfÔk~ku  ?

(A) MkuÔkk ykÃkLkkh

(B) MkuÔkk Bku¤ÔkLkkh

(C) çkeS yLGk ÔGkÂõík fu su MkuÔkk ykÃkÔkk Bkkxu sÔkkçkËkh Au.

(D) WÃkhLkk çkækks

235. MkuÔkk fh fkuÛk yufºkeík fhu Au ?

(A) fuLÿ Mkhfkh (B) hkßGk Mkhfkh

(C) (A)  yLku  (B)  çktLku (D) WÃkhLkk fkuE Lknª

236. Ôk»ko 2015Bkkt yuf ftÃkLkeLkwt ÔkuåkkÛk Y. 22 ÕkkÏk yLku Ãkzíkh Y. 20 ÕkkÏk Au. ßGkkhu Ôk»ko 2016Bkkt ÔkuåkkÛk
Y. 24 ÕkkÏk yLku Ãkzíkh Y. 21 ÕkkÏk Au. íkku ftÃkLkeLkku LkVk-sÚÚkk (P/V) økwÛkku¥kh ~kwt Úk~ku ?

(A) 30% (B) 40%

(C) 50% (D) 60%

237. ftÃkLkeLke rMÚkh Ãkzíkh Y. 15,000 yLku LkVk-sÚÚkk (P/V) økwÛkku¥kh 20% Au. íkku ftÃkLkeLkwt MkBkíkwx-rçktËw (BEP)

~kwt Úk~ku ?

(A) Y. 15,000 (B) Y. 75,000

(C) Y. 30,000 (D) Y. 45,000

238. ftÃkLkeLkku BkkÕkMkkBkkLk Y. 40,000, Bksqhe Y. 20,000 yLku r~khkuÃkhe Ïkåkko Y. 30,000 (60% rMÚkh) Au. íkku fwÕk
MkeBkktík Ãkzíkh ~kwt Úk~ku ?

(A) Y. 40,000 (B) Y. 20,000

(C) Y. 30,000 (D) Y. 72 ,000

239. fhÔkuhk ykGkkusLkBkkt ykuAk fhLke åkqfÔkÛke Bkkxu fE fkGkËuMkhLke åkqfÔkÛke Au ?

(A) fh Ãkrhnkh (B) fh åkkuhe

(C) fk¤w LkkÛkwt (D) WÃkhLkkt fkuE Lknª

240. Ãkhkuûk Ïkåkko yu ..........

(A) ykÔkf WÃkhLkku fh Au. (B) LkVk WÃkhLkku fh Au.

(C) Ãkøkkh WÃkhLkku fh Au. (D) BkkÕk yLku MkuÔkk WÃkh ÔkMkqÕkkíkku fh Au.

241. ykÔkfÔkuhkLkk nuíkw Bkkxu fhËkíkkyku yÚkÔkk ÔGkÂõíkyku .......... Ôkøkeof]ík fhÔkkBkkt ykÔku Au.

(A) ºkÛk fûkkBkkt (B) çku fûkkBkkt

(C) åkkh fûkkBkkt (D) WÃkhLkkt fkuE Lknª
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234. Who will pay the Service Tax?

(A) Service provider

(B) Service receiver

(C) Any other person who is responsible for providing services

(D) All of the above

235. Who Collects the Service Tax?

(A) Central Government (B) State Government

(C) Both A and B (D) None of the above

236. A company has the sales of Rs. 22 lakh and the cost of Rs. 20 lakh in the year 2015 and
the sales of Rs. 24 lakh and cost of Rs.21 lakh in 2016. What will be the P/V ratio of the
company?

(A) 30% (B) 40%

(C) 50% (D) 60%

237. A company has Rs. 15000 fixed cost and 20% P/V ratio. What will be Break-even-point
(BEP) of the company?

(A) Rs. 15,000 (B) Rs. 75,000

(C) Rs. 30,000 (D) Rs. 45,000

238. A Company has Material Rs. 40,000, Labour Rs. 20,000 and overheads Rs. 30,000 (60%
fixed). What will be the Marginal cost in total?

(A) Rs. 40,000 (B) Rs. 20,000

(C) Rs. 30,000 (D) Rs. 72,000

239. In tax planning ,which one is legal for payment of less tax?

(A) Tax Avoidance (B) Tax Evasion

(C) Black money (D) None of The above

240. Indirect tax is _____.

(A) A tax on income (B) A tax on profits

(C) A tax on salaries (D) A tax levied on goods and services

241. For Income-tax purpose, tax payers or persons are classified into the _____.

(A) Three Categories (B) Two Categories

(C) Four Categories (D) None of the above
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242. fÞw ytËksÃkºk BkkÕkMkkBkkLk ytËksÃkºk, Bksqhe ytËksÃkºk yLku r~khkuÃkhe Ïkåkko ytËksÃkºkBkkt Ôkøkeof]ík fhe ~kfkGk ?

(A) ÏkheË ytËksÃkºk (B) ÔkuåkkÛk ytËksÃkºk

(C) hkufz ytËksÃkºk (D) WíÃkkËLk Ãkzíkh ytËksÃkºk

243. ytËkrsík LkVk -Lkwf~kkLk Ïkkíkwt yLku Ãkkfwt MkhÔkiGkwt MkkBkkLGk heíku õGkk ytËksÃkºk nuX¤ ÕkuÔkkBkkt ykÔku Au.

(A) fkGkofkhe ytËksÃkºk (B) BkwÏGk ytËksÃkºk

(C) rMÚkh ytËksÃkºk (D) ÃkrhÔkíkoLk~keÕk ytËksÃkºk

244. fGkwt ytËksÃkºk ÃkúÔk]r¥kLke rÔkrÔkæk MkÃkkxeyu rÔkrÔkæk ytËkrsík Ãkzíkh ykÃku Au ?

(A) BkwÏGk ytËksÃkºk (B) rMÚkh ytËksÃkºk

(C) ÃkrhÔkíkoLk~keÕk ytËksÃkºk (D) fkGkofkhe ytËksÃkºk

245. ykÔkfÔkuhkLkk nuíkw Bkkxu, ykÔkfLkk BkÚkk¤k (nuzTMk) .......... Ôkøkeof]ík fhÔkkBkkt ykÔku Au ?

(A) A fûkkBkkt (B) Ãkktåk fûkkBkkt

(C) åkkh fûkkBkkt (D) WÃkhLkkt fkuE Lknª

246. fÞk ytËksÃkºkBkkt ytËksÃkºk ÷¾ðkLke íkiGkkhe fkuhe Ãkkxe Ãkh ÚkkGk Au ?

(A) ~kqLGk ykækkheík ytËksÃkºk (B) fkBkøkehe ytËksÃkºk

(C) BkwÏGk ytËksÃkºk (D) hkufz ytËksÃkºk

247. ykÔkfÔkuhk hexLko .......... Ôkøkeof]ík fhÔkkBkkt ykÔku Au.

(A) çku fûkkBkkt (B) ºkÛk fûkkBkkt

(C) Ãkktåk fûkkBkkt (D) WÃkhLkkt fkuE Lknª

248. ÏkuíkeÔkkzeLke ykÔkfLku fE fÕkBkLkk ykækkhu fhBkktÚke BkwÂõík Bk¤u Au ?

(A) fÕkBk 10(1) (B) fÕkBk 10(a)

(C) fÕkBk 10 (D) fÕkBk 10(2)

249. ÇkkhíkeGk fhÔkuhk ÃkæækríkBkkt BkqÕGk Ôkrækoík fh .......... Úke ËkÏkÕk fhÔkkBkkt ykÔkuÕk níkku

(A) 1 yurÃkúÕk, 2001 (B) 1 yurÃkúÕk, 2005

(C) 1 yurÃkúÕk, 2006 (D) 1 yurÃkúÕk, 2010

250. ~kqLGk ykækkrhík ytËksÃkºk yu .......... .

(A) rLkÛkoGk Ãkúurhík yrÇkøkBk Au (B) rnMkkçke Ãkæækrík Ãkúurhík yrÇkøkBk Au

(C) MktåkkÕkLk Ãkúurhík yrÇkøkBk Au (D) WÃkhLkkt fkuE Lknª
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242. Which budget may be classified into material cost budget, labour cost budget and overhead
budget?

(A) Purchase budget (B) Sales budget

(C) Cash budget (D) Cost of Production budget

243. The budget which commonly takes the form of budgeted profit and loss account and
balance sheet is_____.

(A) Performance budget (B) Master budget

(C) Fixed budget (D) flexible budget

244. Which budget gives different budgeted costs for different level of activity?

(A) Master budget (B) Fixed budget

(C) flexible budget (D) performance budget

245. For Income-tax purpose, heads of Income is classified into_____

(A) Six Categories (B) Five Categories

(C) Four Categories (D) None of the above

246. The following budget is the preparation of budget writing on a clean slate

(A) Zero Base Budget (B) Performance Budget

(C) Master Budget (D) Cash Budget

247. The Income-Tax returns are classified into_____.

(A) Two Categories (B) Three Categories

(C) Five Categories (D) None of the above

248. Agriculture income is exempt from tax by virtue of which section?

(A) Section 10 (1) (B) Section 10 (a)

(C) Section 10 (D) Section 10 (2)

249. Value Added tax was introduced into the Indian taxation system from_____.

(A) 1st April ,2001 (B) 1st April ,2005

(C) 1st April ,2006 (D) 1st April ,2010

250. Zero base budgeting is a _____.

(A) Decision oriented approach (B) Accounting oriented approach

(C) Management oriented approach (D) None of the above
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251. ftÃkLke ÃkkuíkkLkk ÔkíkoBkkLk ÔkuåkkÛk Ãkh 25% MkÕkkBkíke økk¤ku hkÏku Au yLku Ôkkr»kof Y. 30 ÕkkÏk LkVku fBkkGk Au. òu
ftÃkLkeLkku LkVk-sÚÚkk (p/v) økwÛkku¥kh 40% nkuGk íkku ÔkíkoBkkLk ÔkuåkkÛkLke hfBk fuxÕke Úk~ku ?

(A) Y. 200 ÕkkÏk (B) Y. 250 ÕkkÏk

(C) Y. 300 ÕkkÏk (D) Y. 400 ÕkkÏk

252. LkeåkuLkk Ãkife fR ÃkzíkhLke heík Au ?

(A) Ãkúr¢Gkk Ãkzíkh Ãkæækrík (B) MkeBkktík Ãkzíkh Ãkæækrík

(C) fhkh Ãkzíkh Ãkæækrík (D) WÃkhLke fkuE Lknª

253. BkqÕGk Ôkrækoík fh yu .......... Lkku «fkh Au.

(A) MkuÔkk fh (B) ykÔkf fh

(C) ÔkÃkhk~k fh (D) WÃkhLkkt fkuE Lknª

254. 2  sqLk, 2014 Lkk hkus , ÇkkhíkLkk hkßGkku yLku fuLÿ ~kkrMkík ÃkúËu~kku BkqÕGk Ôkrækoík fh yBkÕkBkkt BkqfÔkkBkkt
ykÔGkku rMkÔkkGk fu .......... .

(A) yktËBkkLk rLkfkuçkkh xkÃkwyku (B) ÕkûGkËeÃk xkÃkwyku

(C) (A)  yLku  (B)  çktLku (D) WÃkhLkkt fkuE Lknª

255. ÃkúÔk]r¥kLke íkBkkBk MkÃkkxeyu, rMÚkh Ãkzíkh çkËÕkkíke LkÚke yuÔkwt .......... nuX¤ ækkhÔkkBkkt ykÔku Au.

(A) MkBkíkwx rçktËw rÔk&Õku»Ûk (BEP) (B) Ãkzíkh-sÚÚkk-LkVku rÔk&Õku»kÛk (CVP)

(C) MkeBkktík Ãkzíkh Ãkæækrík (D) WÃkhLkkt çkækks

256. ÃkúBkkÛk Ãkzíkh yu .......... Au.

(A) yiríknkrMkf Ãkzíkh (B) ÃkqÔko rLkækkorhík Ãkzíkh

(C) ÔkkMíkrÔkf Ãkzíkh (D) rMÚkh Ãkzíkh

257. ÃkúBkkÛk Ãkzíkh yÚkÔkk LkVku yÚkÔkk ÔkuåkkÛk Úke ÔkkMíkrÔkf Ãkzíkh yÚkÔkk LkVku yÚkÔkk ÔkuåkkÛkLkwt VuhVkh yu ..........
íkhefu yku¤ÏkÔkkBkkt ykÔku Au.

(A) yMktøkíke (B) íkVkÔkík

(C) rÔkåkÕkLk (D) yMkkíkíGk

258. BkkÕkMkkBkkLk ÔkÃkhk~k rÔkåkÕkLk  = BkkÕkMkkBkkLk rBk© rÔkåkÕkLk + .......... .

(A) BkkÕkMkkBkkLk WÃks rÔkåkÕkLk (B) BkkÕkMkkBkkLk Ãkzíkh rÔkåkÕkLk

(C) BkkÕkMkkBkkLk ®fBkík rÔkåkÕkLk (D) WÃkhLkkt fkuE Lknª
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251. A Company maintains a margin of safety of 25% on its current sales and earns a profit
of Rs. 30 lakh per annum. If the company has a P/V ratio of 40% its current sales amounts
to _____.

(A) Rs. 200 lakh (B) Rs. 250 lakh

(C) Rs. 300 lakh (D) Rs. 400 lakh

252. Which of the following is the technique of costing?

(A) Process costing (B) Marginal costing

(C) Contract costing (D) None of the above

253. Value Added Tax is a type of _____.

(A) Service tax (B) Income tax

(C) Consumption tax (D) None of the Above

254. As on 2 June, 2014, Value Added Tax has been implement in all states and union territories
of India, except _____.

(A) Andaman and Nicobar Islands (B) Lakshadweep Islands

(C) Both A and B (D) None of the above

255. Fixed cost remains unchanged at all level of activity is assumed under the _____.

(A) BEP Analysis (B) CUP Analysis

(C) Marginal costing (D) All of the above

256. Standard cost is a _____.

(A) Historical cost (B) Predetermined cost

(C) Actual cost (D) Fixed cost

257. The deviation of the actual cost or profit or sales from standard cost or profit or sales is
known as _____.

(A) Discrepancy (B) Difference

(C) Variance (D) Inconsistency

258. Material Usage variance = Material Mix variance + _____ .

(A) Material yield variance (B) Material cost variance

(C) Material price variance (D) None of the above
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259. yLkwfq¤ rÔkåkÕkLk WËÇkÔku Au ßGkkhu Bkqze ykÔkf .......... .

(A) yÃkuûkk fhíkkt ykuAe nkuGk (B) yÃkuûkk fhíkkt Ôkækkhu nkuGk

(C) yÃkuûkk fhíkkt Ôkækw ykuAe nkuGk (D) WÃkhLkkt fkuE Lknª

260. ÃkqÔko rLkækkorhík ÃkúBkkÛkLkk VuhVkhkuLkk ynuÔkkÕkÚke MktåkkÕkLkLkku MkBkGk çkåkkÔkÔkkBkkt ykÔku íkuLku .......... fnuÔkkGk.

(A) ÃkúBkkÛk Ãkzíkh Ãkæækrík (B) MkeBkktík Ãkzíkh Ãkæækrík

(C) yÃkÔkkË îkhk MktåkkÕkLk (D) Ãkzíkh-sÚÚkk-LkVk rÔk&÷u»kÛk (CVP)

261. rLkr»¢Gk MkBkGk rÔkåkÕkLk yu ntBku~kk .......... nkuÞ Au.

(A) yLkwfq¤ (B) rçkLk yLkwfq¤

(C) (A) yLku (B) çktLku (D) WÃkhLkkt fkuE Lknª

262. MkBkíkwrÕkík Mfkuh fkzo Ãkæækrík 1987Bkkt õGkkt MksoÔkkBkkt ykÔke níke ?

(A) yuLkkÕkkuøk zeÔkkErMkMk (B) MkkuVTxÔkuh zeÔkkErMkMk

(C) nkzoÔkuh zeÔkkErMkMk (D) WÃkhLkkt fkuE Lknª

263. MkBkíkwrÕkík Mfkuh fkzo .......... Lkku MkBkkÔku~k fhu Au.

(A) LkkÛkkfeGk BkkÃk (B) LkkÛkkfeGk yLku rçkLk LkkÛkkfeGk BkkÃk

(C) ykrÚkof BkkÃk (D) WÃkhLkkt fkuE Lknª

264. LkeåkuLkk Ãkife fGkwt rLkr»¢Gk MkBkGk rÔkåkÕkLkLkwt fkhÛk LkÚke

(A) Gktºk rÔkhkBk (B) fkBkËkhLke Rò

(C) BkkÕkMkkBkkLkLke yÃkúkÃGkíkk (D) BkswheËh Ôkækkhku

265. IAS - 1 ÃkúBkkÛku yufBk íkuLkk LkkÛkkfeGk Ãkºkfku Bkkxu fE rnMkkçke ÃkæækríkLkku WÃkGkkuøk fhÔkku sYhe Au ?

(A) MktåkGkLkk ykækkhu (B) hkufz ykækkhu

(C) Mktfh Ãkæækrík (D) WÃkhLkk çkækk s

266. yLkwfq¤ rÔkåkÕkLk .......... íkhefu Ãký yku¤ÏkkGk Au.

(A) Wækkh rÔkåkÕkLk (B) sBkk rÔkåkÕkLk

(C) (A) yLku  (B) çktLku (D) WÃkhLkkt fkuE Lknª

267. yktíkhhk»xÙeGk rnMkkçke ÃkæækríkLkwt rLkGkBkLk .......... fhu Au.

(A) yktíkhhk»xÙeGk rnMkkçke ækkuhÛkku

(B) yktíkhhk»xÙeGk LkkÛkkfeGk ynuÔkkÕk ækkuhÛkku

(C) (A) yLku  (B) çktLku

(D) WÃkhLkkt fkuE Lknª
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259. A favorable variance will arise when capital revenues are_____

(A) Less than expected (B) More than expected

(C) Lesser than expected (D) None of the above

260. The management’s time is saved by reporting only the deviations from the predetermined
standard is called _____.

(A) Standard costing (B) Marginal Costing

(C) Management by exceptions (D) CVP analysis

261. Idle time variance is always _____.

(A) Favorable (B) Unfavorable

(C) Both A and B (D) None of the Above

262. Balanced scorecard system was created in 1987 at _____.

(A) Analog Devices (B) Software Devices

(C) Hardware Devices (D) None of the above

263. Balanced scorecard includes _____.

(A) Financial Measures

(B) Financial and Non-Financial measures

(C) Monetary Measures

(D) None of the above

264. Which of the following is not a reason for an idle time variance?

(A) Machine break down (B) Injury of worker

(C) Non-availability of material (D) Wage rate increase

265. IAS-1 requires an entity to prepare its financial statements using the _____ accounting
system

(A) Accrual basis (B) Cash basis

(C) Hybrid Method (D) All of the above

266. Favorable variance is also known as _____.

(A) Debit variance (B) Credit Variance

(C) Both A and B (D) None of the above

267. The International Accounting is governed by _____.

(A) International Accounting Standards

(B) International Financial Reporting standards

(C) Both A and B

(D) None of the above
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268. yktíkhhk»xÙeGk LkkÛkkfeGk ynuÔkkÕk ækkuhÛkku (IFRS) rLkGkBkku yLku BkkøkoËr~kofkLkku Mkux .......... îkhk rÔkfMkkÔkÔkkBkkt
yLku çknkh ÃkkzÔkk{kt ykðu Au.

(A) yktíkhhk»xÙeGk rnMkkçke ækkuhÛkku (B) rnMkkçke ækkuhÛkku MkrBkrík

(C) (A) yLku  (B) çktLku (D) yktíkhhk»xÙeGk rnMkkçke ækkuhÛk çkkuzo

269. ßGkkhu WíÃkkËLk rÔkÇkkøkLkku ûkBkíkk ÔkÃkhk~k økwÛkku¥kh 99% Au. yLku ÃkúÔk]r¥k økwÛkku¥kh 90% Au. íkku rÔkÇkkøkLkku
fkGkoûkBkíkk økwÛkku¥kh .......... Au.

(A) 100% (B) 110%

(C) 80% (D) 90 %

270. yktíkhhk»xÙeGk rnMkkçke ækkuhÛkku MkrBkrík (IASC) Lkk ÃkwLk: håkLkkLku ÃkrhÛkkBku yktíkhhk»xÙeGk rnMkkçke ækkuhÛkku çkkuzo
(IASB) Lke MÚkkÃkLkk .......... Lkk rËðMku fhðk{kt ykðe.

(A) 1 yurÃkúÕk, 2001 (B) 1 yurÃkúÕk, 2010

(C) 1 yurÃkúÕk, 1969 (D) 29 sqLk, 1973

271. fGkku Ëh ÔkíkoBkkLk rÔkrLkBkGk Ëh Ë~kkoÔku Au ?

(A) yiríknkrMkf Ëh (B) rÔkrLkBkGk Ëh

(C) ÔGkks Ëh (D) MÃkkux Ëh

272. LkVk fuLÿ yu .......... .

(A) Ãkzíkh MktåkkrÕkík fhu Au.

(B) ~kuh nkuÕzhLku BkËË fhu Au.

(C) MktåkkÕkfLku LkVku fhÔkkLke yLku ÔkækkhÔkkLke sÔkkçkËkheLkwt fuLÿ Au.

(D) WÃkhLkk fkuE Lknª

273. yÔkíkhÛkLkk ykækkhu fGkku rÔkrLkBkGk Ëh ÚkkGk Au ?

(A) VkuhÔkzo rÔkrLkBkGk Ëh (B) MÃkkux rÔkrLkBkGk Ëh

(C) ÔkuåkkÛk Ëh (D) yMkhfkhf  rÔkrLkBkGk Ëh

274. ftÃkLkeLke fkBkøkehe BkkÃkËtz Bkkxu fGkwt Ôkækkhu Mkkhwt Au ?

(A) LkVk-Lkwf~kkLk Ïkkíkwt (B) BkqÕGk Ôkrækoík Ãkºkf

(C) ykrÚkof BkqÕGk Ôkrækoík (D) hkufkGkuÕk Bkqze Ãkh Ôk¤íkh

275. WíÃkkËLkLke ÃkzíkhLkk Bkq¤ík¥Ôkku .......... Au.

(A) Võík BkkÕkMkkBkøkúe (B) Võík Bksqhe

(C) Võík Ïkåkko (D) WÃkhLkkt çkækk s
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268. IFRSs represent a set of rules and guidelines developed and issued by _____.

(A) International Accounting Standards

(B) Accounting standard committee

(C) Both A and B

(D) International Accounting Standard Board

269. If the capacity usage ratio of a production department is 99% and activity ratio is 90%,
then the efficiency ratio of the department is _____.

(A) 100% (B) 110%

(C) 80% (D) 90%

270. International Accounting Standard Committee (IASC) was restructured resulting in the
formation of International Accounting Standard Board (IASB) on _____.

(A) 1 April, 2001 (B) 1 April, 2010

(C) 1 April, 1969 (D) 1 April, 1973

271. Which rate refers to the current exchange rate?

(A) Historical rate (B) Exchange rate

(C) Interest rate (D) Spot rate

272. A Profit centre is a centre _____.

(A) Which manages cost

(B) Which helpful to shareholders

(C) Where the Manager has the responsibility of generating and maximizing profits

(D) None of the above

273. Which Exchange rate is based on quotation?

(A) Forward exchange rate (B) Spot exchange rate

(C) Selling rate (D) Effective exchange rate

274. Which is the better measurement of performance of a company?

(A) Profit and Loss Account (B) Value Added Statement

(C) Economic Value Added (D) Return on Capital Employed

275. Elements of cost of production are_____.

(A) Material only (B) Labor only

(C) Expenses only (D) All of the above
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276. zqçkuÕke Ãkzíkh yu .......... Au.

(A) ÇkrÔk»GkBkkt WËÇkÔkíke Ãkzíkh (B) rLkÛkoGk fhÔkk Bkkxu Mktçktrækík

(C) rLkÛkoGk fhÔkk Bkkxu yMktçktrækík (D) WÃkhLkkt fkuE Lknª

277. õGkkt MktòuøkkuBkkt BkGkkorËík (Qualified) ynuÔkkÕk ykÃke ~kfkGk ?

(A) ßGkkhu fkGkËk Bkwsçk rnMkkçke åkkuÃkzk hkÏkÔkkBkk ykÔku íGkkhu

(B) ßGkkhu fkGkËk Bkwsçk rnMkkçke åkkuÃkzk hkÏkÔkkBkk Lkk ykÔku íGkkhu

(C) (A)  yLku  (B)  çktLku

(D) WÃkhLkkt fkuE Lknª

278. ÃkuËk~kLke Ãkzíkh Y.10,000 yLku ÔkuåkkÛk rftBkík Ãkh LkVku25 % Au. íkku LkVku ~kwt Úk~ku ?

(A) Y. 2,000 (B) Y. 2,500

(C) Y. 3,000 (D) Y. 3,333

279. ykrÚkof Ôkhæke sÚÚkku yu yuÔkku sÚÚkku Au ßGkkt hkÏkÔkkLke yLku ÔknLk BkkÕkMkkBkøkúeLke Ãkzíkh .......... Au.

(A) ÕkÎkwíkBk yLku MkhÏke (B) BkníkBk yLku MkhÏke

(C) (A)  yLku  (B)  çktLku (D) WÃkhLkkt fkuE Lknª

280. LkeåkuLkk Ãkife fE BkkÕkMkkBkøkúe BkqÕGkktfLk Ãkæækrík LkÚke ?

(A) rVVku (FIFO) (B) ÕkeVku (LIFO)

(C) rnVku (HIFO) (D) ykrÚkof Ôkhæke sÚÚkku (EOQ)

281. yMkkBkkLGk çkøkkzLke Ãkzíkh ..........

(A) ÃkuËk~k Ãkzíkh Bkkt ÕkÏkkGk Au. (B) LkVk-Lkwf~kkLk Ïkkíku ÕkÏkkGk Au.

(C) (A)  yLku  (B)  çktLku (D) WÃkhLkkt fkuE Lknª

282. Bksqh QÚkÕkku yuxÕku ..........

(A) Bksqh îkhk rLkBkkoÛk QÚkÕkku

(B) ÔkuíkLk îkhk rLkBkkoÛk QÚkÕkku

(C) MkBkGk ËhBGkkLk Bksqhçk¤Lke håkLkkLkk ËhBkkt VuhVkh

(D) WÃkhLkkt fkuE Lknª
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276. Sunk cost is _____.

(A) Cost to be incurred in future (B) Relevant for decision making

(C) Not relevant for decision making (D) None of the above

277. In which circumstances qualified report can be given?

(A) Where the books of account are maintained as required by law

(B) Where the books of account are not maintained as required by law

(C) Both A and B

(D) None of the above

278. Total cost of product is Rs. 10,000 and profit is 25% on selling price. What will be the
profit?

(A) Rs. 2,000 (B) Rs. 2,500

(C) Rs. 3000 (D) Rs. 3,333

279. Economic Order Quantity (EOQ) is that quantity at which cost of holding and carrying
inventory is _____.

(A) Minimum and equal (B) Maximum and Equal

(C) Both A and B (D) None of The Above

280. Which one, out of the following, is not an inventory valuation method?

(A) FIFO (First in First Out) (B) LIFO (Last in First out)

(C) HIFO (Highest in First Out) (D) EOQ (Economic Order quantity)

281. Cost of abnormal Wastage is _____

(A) Charges to the product cost (B) Charged to profit and loss account

(C) Both A and B (D) None of the above

282. Labour turnover means _____.

(A) Turnover generated by labor

(B) Turnover generated by wages

(C) Rate of change in composition of labour force during a period

(D) None of the above
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283. r~khkuÃkhe .......... MkkÚku MktÕkøLk Au.

(A) çkæke s Ãkhkuûk Ãkzíkh (B) ÃkúíGkûk yÚkÔkk BkwÏGk Ãkzíkh

(C) Võík ÃkúíGkûk Ïkåkko (D) Võík fkhÏkkLkk Ãkhkuûk Ãkzíkh

284. MÚkkrLkf Mk¥kk íkuLkk fåkhk rLkfkÕk rÔkÇkkøk Bkkxu ytËksÃkºk íkiGkkh fhu Au. hkufz ytËksÃkºkBkkt LkeåkuLkk
Ãkife fE rÔkøkíkLkku MkBkkÔku~k Úk~ku Lknª ?

(A) fkGkofkhe Bksqhe (B) LkÔkk WÎkhkÛke ÔkknLkLke Bkqze Ãkzíkh

(C) ÔkknLkLkku ÎkMkkhku (D) ÔkknLk Bkkxu $ækÛk

285. LkeåkuLkk Ãkife õGkk ÔGkÔkMÚkk íktºk Bkkxu MkuÔkk Ãkzíkh Ãkæækrík ÇkÕkkBkÛk fhe ~kfkGk Lknª

(A) nkuÂMÃkx÷ (B) n¤Ôke yUrsLkGk®høk ftÃkLke

(C) ÔknUåkÛke MkuÔkk (D) WÃkhLkkt fkuE Lknª

286. sÔkkçkËkhe rnMkkçke Ãkæækrík yu .......... BkkÃkÔkkLkwt MkkækLk Au.

(A) rÔkÇkkøkeGk fkBkøkehe (B) ÔGkÂõíkøkík fkBkøkehe

(C) MkknMk fkBkøkehe (D) WÃkhLkk fkuE Lknª

287. LkVk fuLÿ yu ÔGkÔkMÚkkíktºkLkku yuÔkku rÔkÇkkøk Au fu suBkkt .......... Lkk ykækkhu LkkÛkktfeGk fkBkøkehe BkÃkkGk Au.

(A) ÏkheËe (B) Ãkzíkh

(C) ÔkuåkkÛk (D) LkVk

288. ytfwþeík åkrÕkík Ãkzíkh yu yuÔke Ãkzíkh Au fu suLkk îkhk .......... ÃkúíGkûk heíku ytfw~keík Au.

(A) BkuLkurstøk zkGkhuõxh (B) çkkuzo ykuV zkGkhuõxMko

(C) rÔkÇkkøkeGk MktåkkÕkf (D) åkkxozo yufkWLxLx

289. hkufkÛk fuLÿ .......... æGkkLkBkkt Õku Au.

(A) Võík Ãkzíkh (B) Võík rBkÕkfík

(C) Võík BknuMkqÕk (D) WÃkhLkkt çkækk s

290. LkeåkuLkkBkktÚke fGkk ÃkûkfkhLku ykurzxhu ynuÔkkÕk Mktçkkurækík fhÔkku òuEyu ?

(A) ftÃkLkeLkk ~kuh nkuÕzMko (B) fuLÿ Mkhfkh

(C) ftÃkLkeLkk çkkuzo ykuV zkGkhuõxMko (D) WÃkhLkkt fkuE Lknª

291. ÃkzíkhLkk rnMkkçkku yu yktr~kf heíku nfefík yLku yktfzk MkkÚku yLku yktr~kf heíku .......... MkkÚku MktçktrÄík Au.

(A) Ãkzíkh (B) ykÔkf

(C) BknuMkqÕk (D) ytËks
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283. Overhead refers to ____.

(A) All Indirect cost (B) Director prime cost

(C) Only Direct Expenses (D) Only factory indirect cost

284. A local authority is preparing cash budget for its waste disposal department. Which of
the following item would not be included in cash budget?

(A) Operating wages (B) Capital cost of new collection vehicles

(C) Depreciation of the vehicles (D) Fuel for the vehicles

285. Which of the following organizations should not be advised to use service costing?

(A) Hospital (B) A light engineering company

(C) Distribution service (D) None of the above

286. Responsibility accounting is a device to measure_____.

(A) Divisional performance (B) Individual performance

(C) Enterprise performance (D) None of the above

287. Profit centre is a segment of an organization in which financial performance is measured
on the basis of the _____.

(A) Purchases (B) Cost

(C) Sales (D) Profit

288. Controllable variable costs are costs directly controllable by _____.

(A) The Managing Director (B) The board of Director

(C) The Divisional Manager (D) The Chartered Accountant

289. Investment centers consider_____.

(A) Cost only (B) Asset only

(C) Revenue only (D) All of the above

290. To which of the following is the auditor expected to address his report?

(A) Shareholders of the company (B) Central government

(C) Board of Directors of the company (D) None of the above

291. Cost accounts deal partly with facts and figures and partly with _____

(A) Cost (B) Income

(C) Revenue (D) Estimate

dataad1
Highlight

dataad1
Highlight

dataad1
Highlight

dataad1
Highlight

dataad1
Highlight

dataad1
Highlight

dataad1
Highlight

dataad1
Highlight

dataad1
Highlight



ACG - A ] 60 [Contd.

292. yufBk ËeX åkrÕkík Ãkzíkh .......... hnu Au.

(A) Mkíkík (B) åkrÕkík

(C) (A) yLku  (B)  çktLku (D) WÃkhLkkt fkuE Lknª

293. yufBk Ãkzíkh yu ÃkuËk~kLkwt yufBk yÚkÔkk MkuÔkkLkwt yufBk Au fu suLke Ãkzíkh .......... îkhk Lkõfe fhÔkkBkkt ykÔku Au.

(A) ÔknUåkÛke (B) rÔkÇkksLk

(C) MkBkkÔku~k (D) WÃkhLkkt çkækk s

294. ftÃkLke ÃkkMku Y. 2,50,000 Lkk RÂõÔkxe ~kuh yLku íkuLkku fh çkkË LkVku Y. 10 ÕkkÏk yLku ~kuhLke ~kuh ËeX çkòh ®fBkík
Y. 50 Au. íkku ftÃkLkeLkku ®fBkík ykÔkf økwÛkku¥kh (P/E) ~kwt Úk~ku ?

(A) Y. 10.00 (B) Y. 12.50

(C) Y. 25.00 (D) Y. 15.00

295. Lkeåku Ãkife fE çkkçkíkLkku hkufz ytËksÃkºkBkkt MkBkkÔku~k Úkíkku LkÚke ?

(A) yøkkWÚke åkqfÔkuÕk Çkkzwt (B) åkqfÔkuÕk ykÔkfÔkuhku

(C) Bkktze Ôk¤uÕk ÃkkÎkze (D) Bk¤uÕk rzrÔkztz

296. ßGkkhu ÔkuåkkÛk Y. 40,000 Úke ÔkækeLku Y. 60,000 yLku LkVku Y. 5,000 Ôkæku íGkkhu LkVk-sÚÚkk økwÛkku¥kh (P/V)

.......... Úk~ku.

(A) 20% (B) 25%

(C) 30% (D) 35%

297. ‘çkLkkÔkÔkwt fu ÏkheËÔkwt’ rLkÛkoGkBkkt, Võík çknkhÚke ÏkheËÔkwt íÞkhus LkVkfkhf Au fu ßGkkhu rÔk¢uíkkLke ®fBkík ÃkuZeLke
.......... ®fBkík fhíkkt Lkeåke nkuGk.

(A) fwÕk Ãkzíkh (B) zqçkuÕke Ãkzíkh

(C) MÚkkGke Ãkzíkh (D) åkrÕkík Ãkzíkh

298. ftÃkLkeLkwt MkBkíkwx rçktËw Ôkkr»kof 6,000 yufBkLkwt Au. ÔkuåkkÛk ®fBkík yufBk ËeX Y. 90 yLku åkrÕkík Ãkzíkh yufBk ËeX
Y. 40 Au. íkku ftÃkLkeLke MÚkkGke Ãkzíkh ~kwt n~ku ?

(A) Y. 3,00,000 (B) Y. 1,20,000

(C) Y. 2,40,000 (D) Y. 3,60,000

299. ftÃkLkeLkwt fwÕk ÔkuåkkÛk Y. 9 ÕkkÏk Au yLku Wækkh ÔkuåkkÛk fwÕk ÔkuåkkÛk Lkk 60% Au. ~kYykíkLkk yLku ykÏkhLkk
ËuÔkkËkhku yLkw¢Bku Y. 85,000 yLku Y. 95,000 Au, íkku Mkhuhk~k WÎkhkÛke MkBkGk ~kwt n~ku ? (Ôk»koLkk 360 rËÔkMk
ækkhku)

(A) 30 rËÔkMkku (B) 60 rËÔkMkku

(C) 45 rËÔkMkku (D) 90 rËÔkMkku

dataad1
Highlight

dataad1
Highlight

dataad1
Highlight

dataad1
Highlight

dataad1
Highlight

dataad1
Highlight

dataad1
Highlight

dataad1
Highlight



ACG - A ] 61 P.T.O.

292. Variable cost per unit remains _____.

(A) Constant (B) Flexible

(C) Both A and B (D) None of the above

293. A cost unit is a unit of product or unit of service to which costs are ascertained by means
of _____.

(A) Allocation (B) Apportionment

(C) Absorption (D) All of the above

294. A company has Rs. 2,50,000 equity share and its profit after tax is Rs. 10 Lakhs and
market price per share is Rs. 50. What will be the price earnings ratio (P/E Ratio) of the
company?

(A) Rs. 10.00 (B) Rs. 12.50

(C) Rs. 25.00 (D) Rs. 15.00

295. Which of the following is not included in cash budget?

(A) Prepaid rent (B) income tax paid

(C) Goodwill written off (D) Dividend received

296. When the sales increase from Rs. 40,000 to Rs. 60,000 and profit increase by Rs. 5,000
the P/V ratio will be _____

(A) 20% (B) 25%

(C) 30% (D) 35%

297. In ‘make or buy’ decision it is profitable to buy from outside only when the supplier’s
price is below the firm’s own_____

(A) Total cost (B) sunk cost

(C) Fixed cost (D) Variable cost

298. A company’s breakeven point is 6,000 units per annum. The selling price is Rs.90 per
unit. What will be the company’s Fixed Costs?

(A) Rs. 3,00,000 (B) Rs. 1,20,000

(C) Rs. 2,40,000 (D) Rs. 3,60,000

299. A company has total sales Rs. 9 lakhs and credit sale is 60% of total sales. Its opening
and closing debtors are Rs. 85,000 and Rs. 95,000 respectively. What will be the Average
Collection Period? (Assume 360 days in a year)

(A) 30 days (B) 60 days

(C) 45 days (D) 90 days
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300. XYZ  Õke. LkeåkuLke Bkkrníke ykÃku Au.

rMÚkh Ãkzíkh Y. 5,00,000

åkrÕkík Ãkzíkh Y. 10 yufBk ËeX

ÔkuåkkÛk ®fBkík Y. 15 yufBk ËeX

ÔkuåkkÛk 1,50,000 yufBkku

MkeBkktík rnMkkçke heíkLkku WÃkGkkuøk fheyu íkku MkBkGk ËhBGkkLk fBkkGkuÕk LkVku fuxÕkku Úk~ku ?

(A) Y. 5,00,000 (B) Y. 10,00,000

(C) Y. 2,50,000 (D) Y. 7,50,000
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300. XYZ Ltd. gives the following information:

Fixed cost Rs. 5,00,000,

Variable cost Rs. 10 per unit

Selling price Rs. 15 per unit

Sales 1,50,000 units

What will be amount of profit earned during the period using the marginal costing
technique?

(A) Rs. 5,00,000 (B) Rs. 10,00,000

(C) Rs. 2,50,000 (D) Rs. 7,50,000
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